We know how to find derivative of a given function fwith respect to an independent
variable. Also, we have discussed varions methods of integration to find a funetion f
whose derivative is the function g, we may formulate this as follows

For a given tunction g, find a function f such that d—f = g{x) or we can write it as
x

?: glx), where y= flz) Such type of equation is known as differential equation.
x

DIFFERENTIAL
EQUATIONS

In this chapter, we will study some basic concepes related to differential
equation, g:m:m] and particular solutions of a differential equation, formation
of differential equations, some methods to solve differential equations and
applications of differential equations.
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DIFFERENTIAL EQUATION

An equartion involving independent variable (variables), dependent variable and
derivative or derivatives of dependent variable with respect to independent

d
varnahle (variables) is called 2 differential equarion. e.g. lxi—j_}-=’j and

d* ’
‘idx_-:-i-(E] =0 are differential equations, but Zx—3y=0 is not a
differential equation as derivatives of dependent vanable (y) with respect w
independent variable (x) is not present.

Ordinary Differential Equation
A differential equation involving derivative or derivatives of the dependent
vanable with respect to only one independent variable is called an ordinary

differential equation. eg. 2 ﬂ[;--r-I-S[ﬂ] =0 15 an ordinary differential

2 dx
equation, because here dependent variable y have derivatives with respect to
only one independent variable, ie. x



There are differential equation involving derivatives with
respect to more than one independent variables, such
equation is called partial differential equarion. But here, we
shall only deal with ordinary differential equation.

The derivatives are denoted by the symbols
dy d l_y 4"y
PR
If the derivative is of higher order say m then it is

convenient to use y, to represent nth order derivarive.

Order of a Differential Equation
The order of the highest order derivative of dependent

variable with respect to independent variable involved in a
differential equation, is called arder of differential equarion.

d? d*
i) —L+ x| =L |=0
d v

or 3,y s 3™ 8 1y yaveies Ji

e.g {i}%—sinx=ﬂ 3 B
Here, in g (1), equarion has the highcst dervarive of first
order and in c.g (ii), equation has the high:st denivative of
third order. So, orders of the differential equations in eg. (1)
and (u) are 1 and 3, n::p:::ti\-tl]r.

Degree of a Differential Equation

The highest power (positive integral index) of the highest
order derivative involved in a differential equation, when it
is written as a polynomial in derivatives, is called the degree
of a differential equation.

2
d’y d’y dy
eg. [F] +I[F +3 I =0
In this differential equation, highest order derivative is

.ti'j
[ﬂ&—f] , whose high:st power is 2_ Sa, degn:c of differential
equation 15 2.
Note
{i) The order and degree (if defined) of a differential equation are
shways posities integers.
{ii) I the green differential equation is not a polynomial equation in
its derivatives, then its degree is not defined.
eg. %+ =in (g] = 0 iz not a polynomial equation n derivatives

because by using expansion of sin x, the differential equation

AN AN
becomes E+ ﬂ-[&l-} [El— =0, which is not a
de  |d 3l 5!

polynomial in derivatives, as it is not finile, so s degree is not
defined.

{ii) If the differential equation have radicals (ke [ 3, etc) and

fractions | like L L -l
B
o ac

made it free from radicals and fractions by simplifying it

then to find degree, first

EXAMPLE |1] Find the order and degree (if defined)
of each of the following differential equation.

{i}:I—’r-seu-u (i) ¥+ +e’ =0

7
(i) y-x%+ 1+(:x_jf]

Sol (i) Given differential equation is j—:'r =-secy =l
i'y

The highest order derivative occurring in the
differential equation is % so its order is 1.

Itisapjhﬂmlh% mﬂbﬁghﬂﬂpmrmﬂdm%
is 1.
S0, its degree is 1.

(i) Given differential equation is y™ + y* + e =0
The highest order derivative ocourring in the
differential equation is ¥, so itz order is 3.
The given differential equation is not a polynomial
equation in derivatives of y, so its degree is not
defined.

7
(iii} Given differential equation is y = _'vc'ﬂ!—.'hI + 1+ [d_y] .
dx dx

It has radical sign in power, ie. not have positive
integer powers, so we first convert it into differential
equation having positive integer powers.
We can rewrite the given differential equations as
E
¥- Jrﬂ =, 1+ [d_y]
dx dx
WY ey @ oy (22)
2, 2 _ . [ ]
=Sy +x [ri:] lr}-dx- + I
[squaring both sides]

2
= (x* -1}(%] -2:}!%+ ¥ =1=0

which represents a quadratic polynomial in E:IE
%
Since, highest order derivative is %

5o, order of the differential equation is1 and degree of
the differential equation is 2



EXAMPLE |2| Find the order and degree of differential
. |rz Y]
equation y = px + 4/a"p” + b°, where p = dy/dx.

Sol Given differential equation is

y-px+-,||atpi + B
y = pr=ofaip® + b

(y - px) maip® + b
¥+ px? = Zapy m a®p? + b?
(x* =a®)p* = 2xyp + (y* =) =0

{x“-a*}(ﬁ]i-zry[ﬂ] +{y' = )=0
dx ac) Y

Clearly, order =1 and degree =2

U

EXAMPLE |3] Write the sum of the order and degree
k
of the differential equation - l[ﬂ] —0.
dx [\ [All India 2015]
3
Sol Given equation is g I[—dl] } =
dy || dv
dy Y d*
= 3 [—E] £
dx) dx’
Clearly, the highest order derivative occurring in the
differential equation is d* y/dx*.

So, its order is 2. Also, it is a polynomial equation in
derivatives and highest power raised to d° y/fdx* is 1, so
its degree is 1.

Hence, the sum of the order and degree of the above
differential equationis 2 +1=3

SOLUTION OF A
DIFFERENTIAL EQUATION

We know that the solutions of a polynomial equation are
numbers (real or complex), which satisfies the given

equation. Similarly, a function of independent variable will
be a solution of differential equation, if this function
satisfies the given differential equation.

In other words, suppose a differential equation is given to
us, in which y is dependent vanable and x is independent
variable. Then, the function §(x) will be its solution, if it
satisfy the given differental equation, ie. when the
function & 15 substituted for the unknown ¥ (dependent
variable) in the given differential equation, LHS becomes
equal to RHS. The solution of a differential equation is of
two types, which are given below

General Solution of a
Differential Equation
If the solunion of a differential equation of order », contains

n arbitrary constants, then it is called a general solution.

2
d”y
.nll.:l.'z

e.g The general solution of +y=0is

y=Acosx+ Bsin x.

But y=Acosx+sinx and y=cosx+ Hsin x is not the
g:ru:ral solution nfg;'m:n differential equation, as it contains
only one arbitrary constant.

METHOD TO VERIFY THAT GIVEN FUNCTION
IS A SOLUTION OF DIFFERENTIAL EQLUIATION

Suppose, a differential equation is given to us in which y is
dependent variable and x is independent variable. Then, w
verify whether the function y = ¢(x) is a solution of given
differential equation or not, we differentiate y=1b(x) with
respect to x as many times as the order of given differential
equation. Then, put ¥= @ (x) and values of its dertvatives
into LHS quiw:n differential equation and check that LHS
= RHS or not. I[f LHS = RHS, then function y=¢(x) isa
solution of given differential equation, otherwise not.

(i) Ifitis possible to obtain the given differential equation
by using given function y = ¢(x) and its derivarives,
then the given funcrion r=e¢ {2} 15 a solunion urg;iv:n
differential equation.

(ii) Sometimes, a relation between dependent variable { y)
and independent vanable (x) 1s given to us, where s
not directly expressed as function of x (eg
¥y —cos y=x) and we have to check whether the given
relation is a solution of given differential equation or
not. In such case, we differentiate the given relation as
many times as the order of differential equation to get
the given differential equation. [fwe obtained the given
differential equation. Then, the given relation is a

solution, otherwise not.

EXAMPLE |4| Verify that the function y=e ™ isa

; - - . dly  dy
solution of the differential equation — + — -6y =0.
de?  dx
Sol Given differential equation is
d'y dy ;
— = m = -
de®  dx 4 %
and given function is y = ¢™*. o fi1]

Here, order of the given differential equation is 2.
So, we differentiate Eq. (i) two times.



On differentiating Eq. (i}, w.r.t. x two times, we get

2
L] ==3""" and L =0
dx dx®

2
Om putting the values of y,%andl—fm LHS of

Eq. (i), we get
LHS = 0™ g (w3 ) m g™

=97 — 37 —ge™ =m0 =RHS

Hence, the given function is a solution of given
differential equation.
EXAMPLE |5| Verify that y=Acos x—Fsinxis a
2
solution of the differential equation d—: +y=0
dx
Sol Given, y= A cos x = Bsin x i)
Here, order of the given differential equation is 2. So,
we differentiate the Eq. (i) two times.
On differentiating both sides of Eq. (i) w.r.t. x two times,

we get
d—'v-—.ullsinx—.ﬂms x
2
== :_—r':-'-—ﬂtnsx+ﬂsjnx
3
=5 i—r-—{ﬂcusx—ﬂmx]
d* .
= d_t_::-- ¥ [from Eqg. (i)]
x

which is the given differential equation.
Hence, y = A cos x = Hsin x is a solution of given
equation.
EXAMPLE |6| Verify that the functionx + y=tan™! y
is a solution of the differential equation y*y” + y* +1=0.
Sol Given functionis x + y = tan™" y. i)

Here, order of differential equation is 1. 5o, we
differentiate Eq. (i) one time.

On dilferenliau-'ng Eq. (i}, w.r.t. x one time, we get

v

e 1+ }'2
=3 I:I+J.r"}{1+y2]- ¥

= 1+y+y (1+y)=y
= 1+ f + :,r:J.r" =
which is the given differential equation.

Hence, x+ y=tan™'y is a solution of the given
differential equation.

Particular Solution of a

Differential Equation

The solution of a differential equation obtained by giving
particular values to the arbitrary constants in the general
solution, is called the particular solution. In other words,

the solution free from arbitrary constane is called particular
solution.

Jl
it§r+Jr=U 15

e.g. The gcnﬂal solution of
y= Acosx+ Bsin x.

If A= B=1, then y =cosx+sinx is a particular solution
of the giw:n differential equanon.

INITIAL VALUE PROBLEMS

An nitial value problem is a differential equation rogether
with specified value of the unknown funcdon and s
derivatives at a point of the domain of definition of
independent variable.

These specified values are called initial conditions and given
for specify a particular solution of the differential equation.
Often, ininal condinions are of the form ry{xﬂ} =¥y and f or

I’[:ID:] = Yo J"{Iﬂ} = Faoz and so on.
eg O)x 2 =1, y1)=0
R

ﬂrl
@ L2 3% 12y —0, y0)=2, y'(0)=3 are initial

A dx
value problems.

(i) If the differentizl equation in the initial value
problem is of order 1, then initial value problem
involves only specified value of the unknown
function, Le. y(xy) = yq.

(1) A function is said to be a solutnon of ininal value
problem, if it satisfy the given differential equation

and its inirial conditons.

EXAMPLE |7| Show that y= x* +2x +1 is the
solution of the initial value problem

. v =2 y"jo=2
'3 First, show that y = & (x) satisfy the ghen differantial
equation and then show thatl it also satisfy given indtial
conditions.
Sol. Given function is
yux' 4 e 41 i)
Here, order of the given differential equation is 3. S0, we
differentiate Eq. (i) three times.



On differentiating Eq. (i) w.r.t. x three times, we get

% =2y 2 LA}
r ]
j_;';l =2 i)

3
i—rl} = (I, which is the given differential equation.

So, y = x* + 2x +1 is the solution of given differential

equation.
Now,  y0)=(0) + 20)+1=1 [using Eq. (i)]
yo=(2]  a0v2mz fusingEq )
d't = xmill
and [d—i%] =2 [using Eq. {iii}]
at x =@

Hence, y = x* + 2x + 1 is the solution of initial value
problem.

| TOPIC PRACTICE1 |

OBJECTIVE TYPE QUESTIONS
1 The order and degree of the differential

a 154
equation 'fz; " [%] + 1'% = 0 respectively,

are
(a) 2 and 4 (b) 2 and 2
(c) 2 and 3 (d)3and 3

21 The degree of the differential equation

a?y\  (dy) d

() (3] ==l

(=) 1 ib) 2

c)3 {d) not defined
3 The degree of the differential equation

l+[£"—l] = xis

dx

(a) 1 (bio

(c) 2 {d) None of these
4 The sum of the order and degree of the

following differential equation i[d_y] = 3is

dx | dx

(a)2 ib) 3
(c) 4 id)s

L The order and de%ree of the differential
Fx 9
equatian[uﬂ] - 4"1—? is
dx de®
m(:L ;] ) (3.1)
{c)(3,3) (d) (1, 2)
VERY SHORT ANSWER Tvpe Questions

Directions (). Nos. 6-11) Find the order and degree, each
of the following differential equations, if defirned.

6 A Z) (&) +yme

4 2
[E] + 3‘gd_i =0
di dt [MCERT]

]

8 xyfl= y2dx+ yfl=xidy=0

dy 1
9 y+E-Ejydx

2 2
10 [d__z] +[d_y] +sin[d—y]+1-l]
dx dx dx
d* dy
11 [Ex-;-]+ms[ir]-l]
12 Find the order and degree of the differential
a1 a
uation =
“ [l ' [dx] E';
13 Write the sum of order and degree of differential

dyy’ d’ya
tionls| 2| = 7| =—=].
equalﬂn -I-[ ] [ ]

[NCERTI

[NCERTI

dx* [Delhi 2015C]
SHORT ANSWER Type I Questions
14 Find the order and degree of the
differential equation x - sin [jy_xJ = (.

15 Find the order and degree (if defined) of the
differential equation

218 ol

2
16 1f log, [1 4 i—ﬁ-} = x, then find the order and

[Delhi 2020]

degree of the given differential equation.



17 Verify that the function y = \Ja® = x*, x & (- a, a) is
a solution of differential equation

.
X+yge =020 [NCERT]

18 Verify that y = ¢™* + Ax + B is a solution of the

dy
differential equation¢*| — | = 1
dx

[NCERT]

19 Verify that the function defined by
ye=sin x =cosx, x € R is a solution of the initial

value problem % =sin x +cosx, M0)==1.
[NCERT]

SHORT ANSWER Type 11 Questions

20 Verify that the function y—cos y=xisa
solution of the differential equation

(ysin y+cosy+x)p =y [NCERT]
21 Verify that y = xsinx is a solution of differential
equation o’ = y+ :l:-,||Jrj - },z'
(x20and x> yorx <=y [NCERT]

22 Verify that the function x* =2y log yis a
solution of the differential equation
2, 2 dy
X"+ - 0.
)G -9 INCERT]

23 Show that the function xy=log y + Cisa

solution of the differential equation
2

(e 1)
1-xy [NCERT]

24 Show that y = 4¢™ + Be™ is a solution of the

Y=

2
differential equation j—x{-- (m+ u]% + mny =0

25 Verify that y=¢™ ="' * is a solution of the

2
differential equation (1=x%) sz_}l -X % - "y

| HINTS & SOLUTIONS |

x 184
I. (a) Given that ir—y +[ﬁ] -y

4 dx
2 14
2
x
i
= [ﬂ] =- :r”i'+'dli—:“I
dx dx*

On squaring both sides, we get

() (=)

Again, on squaring both sides, we have

2 4
d_}l- x15+ﬂ
dx di®
Order = 2, degree = 4

2. (d) The degree of given differential equation is not
defined because when we expand sm[';ﬂ] we get an
x

infinite series in the increasing powers of 5—% Therefore

its degree is not defined.

z
3. (c) We hawve, 1 -l-[i;ﬂ] = x

x
Clearly, degree = 2

d (dy),
"l'- {l.'l} We h.a."-"e., E[E] 5

2
=% d—z'- 5
2 Order = 2 degree =1
Hence, sum= 241 =3
23 .
5. (c) We have, [I +3£] =sdY
dx dx?

Cubing both sides, we get
i 5 3
=1t
[1 + 3-2] [1 d:’]
s Order =3, degree =3

x* dx

A ‘
6. Given differential equation is x[:‘—r] + [d_y] +yime™

3
Since, the highest order derivative is d—}' So, its order is 3.
dI!
. o eounton i 2 LY e
It is a polynomial equation in o and the highest
3
power nf:—;is 2. So, its degree is 2.
%
7. Solve as Question 6. [Ans. Order = 2 Degree =1]

8. The given equation can be rewritten as

x“lﬁ-yidr--y'\lll-xia‘y = %-

-X 1—;-,":

Since, the highest order derivative is i:— %o, its order is 1.

It is a polynomial equation in % and highest power nl'-i%
is 1. So, its degree is 1.



2.

10,

12

3.

14,

Given differential equation is
y+%-}j‘pd‘r i)
Let us first remove the integral sign by differentiating it
Wt x.
On differentiating Eq. (i) w.r.t. x, we get
dy _d’y

—_ -l
dx ¥

dct 4

2

Since, the highest order derivative is :—JE So, its order is 2.
d* d

Also, it is a polynomial equation in Itt:'— and Erl where

2
highest power uf:_—r§ix 1. 50, its degree is 1.

Given differential equation is

£yY (Y (d
£y +[—J"] +gi|{—J"] +1m0
dr? dx dx
2
Since, the highest order derivative is d—EL 5o, its order is 2.
dxi

Degree is not defined as it is not a polynomial in
derivatives.

Solve as Question 10.

[Ans. Order = 2 Degree = not defined)

- P
Given differential equation is| 1 + [d_y] - H
dx dx®

On squaring both sides, we get

RGIRE]

2
Here, highest order derivative is :I—y whose highest

]

power is 2.

So, order of differential equation is 2 and degree is also 2.
Y [d*y)

Given differential equation is1 + [_}'] =7 2¥]|.
dx dx?

2
Here, highest order derivative is :I—f, whose highest

power is 3.
S0, order = 2 and degree =3
Sum of order and degree = 2+3=5

Given differential equation is x = sin [%] =

Since, the highest order derivative is %

So, its order is 1.
Mow, if possible, then convert the given differential
equation into polynomial equation of derivatives.

Consider, x —sin [%] =0

=5 sin(d—y]-x

dx
= %-ﬂn" x, which iz a palynomial ini}-l.
Also, highest pnweraf:'v is 1. 5o, its degree is 1.

¥
15. Since, highest
x
differential equation is%, therefore order is 2 and as the

order derivative occurring in  the

differential equation is not a polynomial in derivatives,
therefore its degree is not defined.
16. Given differential equation is

2 2
log, [1 + a!__\r] = x, which can be rewritten as1 + LE =gt

dx? dx®
Clearly, the order of differential equation is 2 and its
degree is 1.

b 4

int 2 == &
]?.Hm&lm=&dx- y =.'-"I+}'d:_l'l:l

r ]
18. Hint 2 m e (1) + A4: LL m e~
dx dx*

19. Solve as Example 7.
20). Given differential equation is
{rsin:ﬂ-mrw}a-:-' i)

and given function is y = cos y=x i)
Since, the order of differential equation is 1, therefore
we differentiate Eq. (ii) w.r.t. x only once.

Now, differentiating Eq. (i) wr.t. x, we get

dx dx

dy .
— 1+ 1
= dx{ sin y)=
= I‘i—'ll'll- !
dy 1+siny
MNow, consider

LHS =(ysin y + cos F+I}F,-}-mny+cn5 yrx

1#+siny
T [using Eq. i)
g ysiny+y y {sin }--I-l}-}__m_ls
1+sin y 1+sin y

Hence, the given function is a solution of the differential
equation.

g YSin Y+ cos y+ y=cos y

21. Hint %- sinx + xcosx

LHS = rsinx + x* cos x

2
-}"I'I!qlﬁ-iiﬂix-}'i'xi 1—[1]-11145

x



27, Himt ﬂ- ;
dr  yi(l+ 2log y)
Mow, substitute the value of x* from the given equation

dx

13, Given. xy = log y + C
On differentiating both sides w.rt. x, we get

xy* + pel -L-}r’ + 0 [using product rule of derivative]
¥
sary=l s ogyeytay
¥

= :-'z =y =xyy
= y =yl-xy)

=% y' = y . xpel Hence proved.
1= xy
24. Given, y = Ae™ + Be™ i)

On differentiating both sides of Eq. (i) wrt. x, we get
Ex-:&-r""-m+ﬁr"‘-n i)
dx

Again, on differentiating both sides of Eq. (ii) w.r.t. x,

we get

2
d—iln m-Ae™ .m + n- Be™ -n

| TOPIC 2|

2

=% d—lv- =miAe™ + nlBe™
Ii:':
Now, consider

LHS = ﬁ =-{m + J':}Elz + mny
dx? dx
= m Ae™ & ntBe™ =(m + n) (mAe™ + nBe™)
+ mni Ae™ + Be"™)
= mt Ae™ + n' Be™ = m® Ae™ = mnBe™
= nmAe™ = n*Be™ + mnAe™ + mnBe™

=0=RHS
Thus, LHS = RHS
Hence, y = Ae™ 4 Be™ is a solution of given equation.

Hence proved.

25, Hint ¥ = ™
dx 1= x°

2
= (1 —xzj[%] = m’y?

- x? Ef_?[ﬂ]i_ - mi2y
= (1 I}E{d:’]fhtil'- o {=2x) mE}-dx

On dividing both sides by {%] to verify required result.

Methods of Solving First Order and
First Degree Differential Equations

DIFFERENTIAL EQUATION

WITH VARIABLES SEPARABLE
A first order and first degree differential equation
%= Fix, 'y} i5 in the form of variable separable, if the

function F can be expressed as the product of the functions
of x and the functions of y. Suppose a first order and first
d:grﬂ: differential equation is given to us, ie.

%= Flx. ) )

r
Now, expressed it as E"}I = H_}']' . g{x] T

]F.ﬁ[’}l}#ﬂ.. then separate the varables, i.e. write Eq. (i1) as

1

On integrating both sides, we get
1
—dy = xlde or Hiy)=Gilx)+C
IH}}nj' [ gtx) (1) =Glx)+

which is the required solution of given differential

equation, where HI:_}r}. (r(x) are the ant-denvatives ufﬁ..
F

glx) respectively and C is the arbitrary constant.
EXAMPLE |1] Solve the differential equation

dy _ 2 2
E-{1+x}{1+}r]. INCERT)

Sol. Given differential equation is %- {1+ x50+ }-EJ
On separating the variables, we get

[ ! z]d}r-{li-xi}dx

i+y




On integrating both sides, we get

[ =rdyef oo xtyas

3
= tan'l_'p-x+x?+f

where, C iz a constant of integration.

Hote Here, is no need io infroduce arbitrary constants of integration
on both sides becauss both constant may be combined together
and give just ome arbitrary constant.

EXAMPLE |2| Find the general solution of the
differential equation (x +2}%= ¥ +5x -3 x#-2

Sol Given differential equation is (x + 2}%- x4 5xr=3
xt +5x =3
(x+2)
On integrating both sides, we get

X #5x =3 9
IJP.IW:{: = ],--_[[{x +3]-{” 2}}::&

[separating the variahles]

= dy=

[dividing (x* + 5x = 3) by (x + 2)]
2
= Jr:x?+1x-?lng|x+ +C
which is the required general solution.

Solve the differential equation
ﬁ: e ¥ + xle7Y,
dx

EXAMPLE [3]

-';7_:!'::' To make it in a variable saparable form, take ™ as
common. Sokve the resulting differential aquation by
applying the method of variable separable.

Sﬂ.[- Given differential equation is

ﬁ-i""'-l-_i::!e"'

dx
= %- e ¥ {e* + x%)
1 z 2 ¥ x 2
= Tyn‘y-{r + x )dy = efdy =" + x" dx
€
[separating the variahles]
On integrating both sides, we get
Ie’d}'-.[l{e’ + x%)dx
3
= e met 4 -4
3 lefJ
['.‘Je‘dx-e'ﬂldjr"dx- ,wl'u:rcn!-l:|
m+1

which is the required solution.

EXAMPLE |4] Find the partioular solution of differential

“J° First, soparate the varables x and y and then integrate to

" find a general solution. Further, put the given condition in
tha geraral solution to find the value of arbitrary constant
and than put the value of arbifrary constant in the general
solution to find tha particular solubion.

5ol Given differential equation is

LI — i)
dx

= ﬁi = =4 xdy [separating the variables]
¥

Om integrating both sides, we get
Id—r--l‘!xdx =5 —l—--EJc2 +C
¥ ¥
1
2t -

which iz a general solution of the given differential
equation.

i)

= ]

Also, given y =1, when x =0
On putting x =0and y =1in Eq. (i), we get
12— = C==1
Aoy =C
Om putting the value of C in Eq. (ii), we get
1 1

= =

ym—
2xt = (=1} 2x? #1

which is a particular solution of given differential equation.

HOMOGENEOUS
DIFFERENTIAL EQUATIONS

A function F(x, y) is said to be homogeneous function of

ER

degree n, if F(x, y) =I-g(i] or J"”{ij
x ¥

+2
eg. Fix, r,‘r':l' _— — z 15 ahnmug:m:nus function of
1+2[l]
dcgml:ﬂ.asF[x.J:I=xﬁ —_—
2
x
dy

A differential equation of the form I = Fix, ;r] is called a
humug:m:uus differential  equation, if Fix, .-1"} 15 a
homogeneous function of degree zero.

Thus, if Flx, y)= 3[1] or ;,[i]. then the differential
x y

equation is homogeneous.

+2
Y
de  x—y

153 hnmng:n.cnus differential eruation.



METHOD TO CHECK WHETHER
GIVEN DIFFERENTIAL EQUATION IS
HOMOGENEOUS OR NOT

Suppose, a differential equation is given to us, then to check
whether it is hnmng:nmus or not, we use the fu“uwing
steps

L. First, write the given differential equation as

_ﬁ =F —_—
{I.. }Dr F{I.. }

sl
IL. Replace y by Ay and x by Ax in F(x, y).
1. Ifit is possible to write Fx, }'1._1-} =a" Flx, _r:l. then
the given differential equation is homogencous,
otherwise the given differential equation is not

homogeneous.
Mote Generally, we use this method, only when we have o show
that the differential equation ks homogensous.

EXAMPLE |5] Show that the differential equation

xl:m( ]ﬂ'JIII = yr:ns[y]+x is homogeneous.
x x

Sol Given differential equation is,

.'vrll:lm.-:(l]ﬂ = yms[l] +x
x Jdx x

i-}rms{ythx

dx xecos (pfx)
Let Fix,y)=2eosly/x)tx A

xeos (y/x)
O replacing ¥ by Ay and x by &x in Eq. (i), we get
A ycos ﬂ +Ax

Ax
Axcos [%]

- Aycos (y/x)+ x]
Axcos (yix)
= 3F(x, ¥l

=n
o

Flix, dy)=

[from Eq. (1]
Smr.:e power of & Jsﬂ{zem} 50 Fx, }l} isa hum.ogenenus
function of degree 0. Hence, gnrenda.fferenual equation is
a homogeneous differential equation.

Hote In short, io check whether the given differential equation =
homogensous or mot, we check degree of each term of numerator
and denomingior of Flxy) I degree B same, then differential
equation is homogensous, otherwvise not.

Solution of Homogeneous
Difterential Equation
Suppose given differential equation is of the form

f{x. }}d’} = g[:x. ]]ir. then to find its solution, we use the
following steps

. Write the given differential equation in the form

ﬂi’ = Fl(x, y), where F(x, y)= fii - j}; (i)
dx flx, y) .
— = Flx, y), where F(x, y)=——— ...01)
dy 7 ’ glx, y)

and check whether it is homogencous or not. 1f
Eq. (i) is homogencous differential equation, then go
to next step.

II. Case 1 If Fix, ry}=.ﬁ[l]. then put y=ux and
x
L
dx
Case 11 I F(::.;}:;;[i], then put x =y and
¥

=u+x%tn Eq. (1).

dx der
—=vr+ y—in Eq. (i).
dy " "

HI. Write the equation obtained in step I in vanable
separable form and then integrate.

IV, If case | occurred, then replace » |:-}.-'l otherwise for
x
case [, replace v by bl in the equation obtained in
¥
step 111, to get the required solution.

EXAMPLE |6| Show that given differential equation
(x = y) dy = (x + y) dx is homogeneous and solve it.

[NCERT]
Sol Given differential equation is{x = y)dy =(x + y) dx
or dy x+y )
dr x=y
Let Flx,y)= 22 .
x=y
Om replacing x by Ax and y by Ly in Eq. (ii), we get
;‘..:'-I-.'-'L}' Mx+y) o0
Fikx, Ly)= P .'-'l.y rmy) & Fix, y)

Thus, Fx, y)is a homogeneous function of degree zero.
So, put y o=
On differentiating both sides w.r.t. x, we get

dy

—_— e N —

dx dx
On putting the values of y aJ:Ld dy ; — in Eq. {i). we get

dv x4+ vx dv 14w
Vb r—m= =y x—m
dx  x=wx 1=w
dv 1+vw xdv 1l+w=—w+w’
=% X —m - =
d.k' 1=y dx 1=y



dv 1+
=3 ¥—=

dy  1=w
On separating the variables, we get

1= 1
= dv = —dx
1+ v X

On integrating both sides, we get j Y dv= I—

14w

- Il+1.r -_‘l1+1;I v-‘l;dx

= un"v-;lng|{1+vi}|llog|x|+f
3
- I:an"[l]' hg[lq-y_:] = log| x|+ C
x x
-
x
i 2
= 2tan” (l]-hg 1+4L2]-2{log|x|+f']
x L, X
= Elan’}--lugM+lng|x|i+I‘
x x°
= Z:snjlnlug-xil'.yi[:[! + 2C
x x
[~ logm + logn = logmn]
= Elan"(l]—log|x2+}-=|-2-['
x

i [IJ'lhE“z +y'|=C,
X 2

which is the required solution.

EXAMPLE |7]| Show that the differential equation

— ') dx + 2xy dy = 0 is homogeneous and solve it.

[NCERT]
Sol Given differential equation is (x* = y*) dx + Zxydy = 0.
x_ 2
- Hy-x 60
dx Zxy
r_ 2
Let F(x, y)=&—— _Aii)
2xy

O replacing x by Ax and y by Ly in Eq. (i), we get
(Ay) +(hx) - iy +x%)
Zix Ay A 2xy
Thus, F(x, ¥)is a homogeneous function of degree zero.

Elnputl:ingjr-mmdd—y-v+xdﬂ in Eq. (i},
dx dx

Flax, hy)= = 1" F(x, y)

we get
N dr  vixt =t
v Y=
adx Zwxt

. v _vi-l v_-v!-l
dx Iy 2y
dv  =v® =1
=3 Y i}
2v
From Eq. (iii). we get
2 1
Y dvm=_dx
14w x

Omn iuteg:aljng both zides, we get
a! - dx
'[1 + vt = J

= log|(1+v")|==log|x|+log|C|
put1+v!-r=b21.rdv-d'r

_[ dv-_[—dr-lngirl-logll-i-vl

1+w
=4 Iugl{l+1.r )+ log | x|= lag |C)
= hg|{1+v=}x|- log|C|
[ log m + logn = logmn]
= xl#vi)=C
2
= x{1+"r—i]-|‘_" ['.'v- 1]
x x
=5 X =
2
=+ x4y =Cx,

which is the required solution.

EXAMPLE |8| Find the general solution of
yide +(x* —xy +y*)dy =0.
Sol Given differential equation is

[NCERT Exemplar]

yide +(x" = xy+ y')dy =0

= Vide = =(x" = xy+ y* My
= ¥ dx"{-‘f =xy+y ]
dy
dx ¥ x
= — e | —— e ] ---{i}
dy [:-ri y ]
which is a homogeneous differential equation as
dy Ly
x
. Put—=wvorx=wvy
¥
dv
= — =y y—
dy dy

On substituting these values in Eq. (i), we get

v+ y:—:- =(v* =y 1)



= yd—“-—vi+u—1—v

v 2
== — ==yt -]
yd}.

- dv -_d_y
v+l ¥

On integrating both sides, we get

dv _d_y
.[._,2_'_1'.[ ¥

= tan™'(v) = =log|y| + C
= mn'd[iJ + log|y|=C
¥

which is the required general solution.

rput ve i-l
]

| TOPIC PRACTICE 2 |

OBJECTIVE TYPE QUESTIONS

1

The general solution of e* cos ydx — e"sin ydy =0
is

(b e ™ sin y=k

(d)e* =ksiny

{aje” cos y=k
icle® skcos y

The general solution uf:t—y =2xe* ~7is

ibje™¥ +e* =C
(e " =C

{a}r‘“z ¥F=C

(c)e¥ =e* +C

The number of solutions of d_y_ f_"'l

x x=1
when y(lj =2is
(a) none (b) one
(c) two {d) infinite

Which of the following is not a homogeneous
function of x and y?

fa) x® + Ixy
{c) cos z[£]+ X
x) x

The curve for which the slope of the tangent at
any point is equal to the ratio of the abscissa to
the ordinate of the point is

(a) an ellipse (b) parabola

{c) circle (d) rectangular hyperbola

b) 2x-y

{d) sin x = cos ¥

VERY SHORT ANSWER Tvpe Questions
Directions (Q. Nos. 6-9) Salve the following differential
Equations.

6

9

&__X .o
dr x +1-

=xt e
=t-y? (=22 y<2

]
df 1=y 0
{i‘:+ 1 =

=X

- 4
dx [All India 2015C]
dy
dx

[NCERT]

[NCERT]

SHORT ANSWER Type | Questions

Directions (). Nos. 10-23) Find the general solution
of the following differential equations.

10

11

12

13

14

15

16
17

:x+1;£i§.zq

dy l=cosx
—_—
dy l+cosx

B osin'x
dx

[NCERT]

[NCERT]

dy o+y
dr  xy+x

dy
I:FE (x+2)(y+2 [All India 2017C]

_dt--]_— -
e X+ =Xy

xfl- P dr+ pfl= xPdy=0

ylog ydx = xdy=0 [NCERT]

g odx
18 sin Idy gin y

19 1+ y)tan™" xdr+ 21+ x¥)dy =0

[NCERT Exemplar]

20 sec’x tan ydx +sec’ytan xdy =0

21 cosx(l+cos y)dx =sin y(l+sin x)dy =0
22 ﬂn(%]-u



d
23 log [é] =3x ¢4y [All India 2017C]

24 Find the particular solution of the differential
equation e* tan y dx +(2=¢%) sec’ y dy = 0,

given that y = I whenx=0.
4 [CBSE 2018)

25 Given that it—f =¢"*"and y =0, when x = 5 Find
the value of x, when y= 3
SHORT ANSWER Type 1l Questions

[MCERT Exemplar]

26 Solve (x ljd: 27y

27 Solve the following differential equation.
-EI tan _}'-tit - [1—1"::' S'EEI}'d_}' =0 [Delhi 2011]

28 Find the particular solution of the differential
equation e‘1|| - yzd:r + idy =(, given that y=1
x

when x =0, [Delhi 2014]

dy
29 Solve the initial value problem ¢dr = x + 1, y(0) =5

30 Find the particular solution of the differential

equalian:x—f-1+x + § + xy, given that y =0,

whenx=1 [AIl Tndia 2014]

31 Solve the differential equation
g:-:?' =1+xt4 _pz + x:yz, given that y =1, when

x=0. [Delhi 2012]

32 Find the particular solution of the differential
equation x(1 + J-"] dy = Wl + x¥) dy =0, given that
y=1whenx=0

33 Find the particular solution of the differential
equation (1= _pzj (1+log [x[) dx + 2xy dy = 0, given
that y=0when xr =1 [Delhi 2016]
34 Find a particular solution of the differential

equation (x = ) (dx + dy) = dx = dy, given that
y==1whenx=0. [NCERT]

35

36

37

38

39

40

H

42

43

2 4+ sinx |dy
dx

If ypix)is a solution af[ I — = =cosx and
+¥

¥{0) =1, then find the value of y{%}
[NCERT Exemplar; Delhi 2014]

Find the equation of the curve passing through
the point [D, %] whose differential equation is

sin x cos ydy + cosx sin ydy =0. [NCERT]

Find the equation of a curve passing through
the point (0, =2), given that at any point (x, }) on
the curve, the product of the slope of its tangent
and p-coordinate of the point is equal to the
x-coordinate of the point. [NCERT]

At any point (x, v) of a curve, the slope of the

tangent is twice the slope of the line segment
joining the point of contact to the point (-4, — 3).
Find the equation of the curve given that it
passes through (-2, 1). [NCERT]

Find the equation of a curve whose tangent at

any point on it, different from origin, has slope

¥+ L
x [NCERT Exemplar]

Find the equation of a curve passing through
the paint (1, 1), if the tangent drawn at any point
F(x, y) on the curve meets the coordinate axes

at 4 and B such that P is the mid-point of 4B.
[NCERT Exemplar]

Find the equation of the curve passes through
the point (1, 0), if the slope of the tangent to the
J.' —
xex
[NCERT Exzemplar]

curve at any point (x, p)is

Find the equation of a curve passing through
the point {0, 0) and whose differential equation
oy .
is — =g siny.
dx [NCERT]
Find the particular solution of the differential
L :r*]
uation — = = + cosec] — 0, O when
“q dy X [x =T re

r=1 [All India 2014C, 2011]



+

145

46

+7

48
49

50

51

52

54

Show that the given differential equation is
homogeneous and solve it

xd—y-y+xsm[£]-ﬂ. [NCERT]
dx X

Solve the following differential equation.

sl s oo

[Delhi 2010:C]

Find the general solution of the following
differential equation.

d
xcus-t-l"-l CGSI-I-II![I
[x]dx = [x] ’
[Delhi 2017C; All India 2014C]

dy

Solvex+ y—
dx

=2y

Solve (x* + yajdy- xz_y.n‘x = (.

Solve the differential equation
1+ x) (14 y¥)de +(1+ y) (14 x%) dy = 0.

Solve the differential equation

x’%-x’-2y2+xy.

Solve the differential equation

I:I:-'-I-.:l'ﬁn.l:'—_}'ﬁ

dx dx |All India 20186]

Find the solution of the differential equation

(x dy = ydx] ysin[ﬁ]- (¥ dx + x dy) xcus[—ii]
[NCERT, All India 2018C]

Solve the differential equation

ye dx = (xe™ + y*) dy(y = 0).
[NCERT; All India 2017C]

Show that the differential equation
2y-e™7 dx & (y = 2xe*'7) dy = 0 is homogeneous

and find its particular solution, given that x =0,
when y=1 [NCERT; All India 2016; Delhi 2015]

LONG ANSWER Type Questions

55

Solve the following differential equation.
Jm[.vr2 -1]%-L y=0, whenx =2
[NCERT; All India 2012]

56

57

58

59

60

61

61

63

64

Find the particular solution of the differential

cody x(2logx+1) b
hon—=—————— that y=—
CAAOn e = Sin y+ycosy givenfaly=5

whenx=1 [Delhi 2014]

Find the general solution of the following
differential equation.

() 2)
dx dx ;] [All India 2016C]

Show that the general solution of the

differential equation L4 + M = is given
dr x*ex+l

by(x+ p+l)= Al =x= y=2xy),

where 4is a parameter. [NCERT]

Show that the differential equation

[x=¥) %- x + 2y is a homogeneous and solve
. [NCERT; Delhi 2014]
Find the particular solution of the differential
equation (x - ;,J]I["L:—"'J = (x + 2)), given that y =0

whenx=1. [All India 2017]

Solve the differential equation
[x sjnz[-rt]- y]dx +xdy=0,given y= %
x

when x =1
[Al India 2015C, 2014C, 2013; Delhi 2011C]

Show that the differential equation

X ﬂs\:m [l] + X = ysin [l] =0 is homogeneous.
dx x x

Find the particular solution of this differential

equation, given that x =1, when y -%.
[All India 202_1]; Delhi 2013]

Show that the following differential equation is
homogeneous and then solve iL

ydx+xlug|£

dy-2xdy=0
[WCERT; All India 3011C]

Find the particular solution of the differential
| )
'n:latlf:rn-t = iven that y =1, when
1 FrarL !

x=0. [Dhelki 2015]



65

67

68

69

70

71

72

74

75

76

Solve the differential equation
xzd'y + (XY + _yz}.:ir =0given y=lLwhenx=1

[Delhi 2i15]
Show that the differential equation
2
@ . 'P—Ijs homogeneous and also solve it
de  xy-x [All India 2015]

Find the particular solution of the differential
equation xzdy = (2xy + _yz} dx, given that y =1,
when x =1 [All India 2015]
Find the particular solution

[x3 +xz+x+l};£-1rz+x_y- L when x =0.
X

Find the general solution of differential
equation (x* - 3xy?) dr = ()® - 3x7y) dy-

Find the particular solution of the differential
equation (3xy + yz_]d'x +(x?+ xy)dy=0forx=1
and p=1 [Delhi 2013C]

Show that the differential equation

(x ‘,||.'4:2 + yz - _pzj dx + xydy =0 is homogeneous
and solve it

Find the solution of the differential equation

{x cos [%] + ysin E]} y dx
rfpan()-xeon(F) e

[MCERT; All India 2000C]

A population grows at the rate of 3% per year.
How long does it take for the population to
double?

The population of a village increases at the rate
proportional to the number of its inhabitants
present at any time. [f the population of the
village was 20000 in vear 1999 and 25000 in
the yvear 2004, then what will be the population

el e e R m— e — e T

of the village in 20057

In a bank, principal increases continuously at
the rate of 3% per vear. An amount of ¥ 1000 is
deposited with this bank, how much will it be
waorth after 10 yr? (" = 1648) [NCERT]

In a bank, principal increases at the rate of
r% per year. Find the value of r, if ¥ 100 double
itself in 10 yr. (log, 2= 0.6931) [NCERT]

. dy  y+1
. G that —
{b) Given dx-

. (d) Since sin x = cos y can't expressed in the form x"g[—}

77 The volume of spherical balloon being

inflated changes at a constant rate. If initially its
radius is 3 units and after 3 s, it is 6 units. Find

the radius of balloon after r 5. [NCERT]
| HINTS & SOLUTIONS |
1. {a) Given that

e” cos ydx = e” sin ydy =0
= e* cos ydy = e* sin pdy
= dx = tan ydy
O integrating both sides, we get

x=logsecy + O
= x=C = logsecy
= sﬁ:y-t"c
1 e

- cm_\r-g_":
= e*cos y=k [where, k = ¢°]

. () Given that %-212'1"-2: et g™

= et dy=2x e*” dx

On integrating both sides, we get
Jer d'j.r-.l-ixe‘z dx

Put x* =t in RHS integral, we get

2x dv = dt
Jerd'y-je‘ dt
= efme’ +C
= T me* +C

x=1
- oy &
¥+l x=1

Om integrating both sides, we get
log(y +1) = log(x =1) = logC
Cly +1)=(x =1)
..=. -11
¥+l
When x =1and y=2 then C =0
So, the required solution is x =1 =0

= Cm

Hence, only one solution exist.

¥

X

or y"h[i] therefore it is not a homogeneous function.
¥



5. (d) It is given that

DX i)

= =y'=C

where, C =<2,

This equation is representing a rectangular hyperbola.
. Given differential equation is

d_y_ x
dr  x*+1
= d__-,r- *
dr  x* +1

On separating the vn;_ial}lu. we get

d
Jr-x‘n

On integrating both sides, we get
X i

=~ 4 d
Jar=] PR J Y3

Putx‘+1-r==-2xd_r-dt

1
dy =| = dr = Hl+C=log|x* +1|+C
o Jdr =f 2 dt = log]t] + C = log|x* +1]

y-‘;lug[rz +1|+C

which is the required solution.
. Himt Write the given equation as el"'d}l = xdv and salve
it.

2:' 4

Ans. £ = X + C]

2 4

. Given differential equation is itl- ‘,||-j. -y

On separating the variables, we get :! " = dx

On integrating both sides, we get

jf_%-fﬁ _ .
I _.E].,n: [ | :’%.m"[f]]

= %-ain{r-i-f‘]
= y=2sin(x+C},

which is the required solution.

9. Given differential equation is

z
_dzq. I;L-CI
dx 1=x"

10.

11.

13.

T
= I:-:iLILII-!-— 1-}'
dx 1—x

On separating the variables, we get

1 i
IR e

On integrating both sides, we get

1 1
o=

= sin” y=—sin™x +C
= sin"'x #sin"y=0C,
which is the required general solution.
Given differential equation is

(x +1) SE = 2xy
On separating the variables, we get

L
¥y x#l

On integrating baoth sides, we get

J'ﬁ-z 2 i
¥ x+1

(x+1)-1
- J2=2 0

- [?F'E[Id"[{xmﬂ]

= lag“r|-2J-r:l‘x—2jﬁdx

= log|y|=2x=2log|x+1|+C

= log| y|=2(x - log| x +1])+ €,
which is the required solution.

Himnt

(i) Use the following formulae

{a)l=cos x = Esintg

{'b}1+cmx!2::ua’§

(i} Write the given equation as dy = unzéd_tand solbve it.
[ﬁm y= Ztan%— x+l‘."]

Hint Evaluate Isin"xdr by using integration by parts.

[Ans. y = x{sin™ x) + -.Iﬁ =x' +C]

Hint Write the given equation as[}“'-l}-j_‘r:(x +1}.‘Lr
¥ x

and solve it. [Ans. y=C x ¢~




14+. Given differential equation is

15.

16.

17.

18.

19,

20.

21

r:,-—j%-{x+2}{}'+2} i)
Om separating the variables, we get
¥ dy-x+2d_t
y+2 x
On integrating both sides, we get
¥ I+2dx
J-},_'_Zd}"j 2
- I{Eu-z]#_[xndx
y+2 X
y+2 2 x 2
2 " dy = —dr + | —dx
[}r-l-i v J.J.r+2d}lljx Ix
1 1
dy=2| —— de+ 2| =dx
o Jiy ey faceaf
= y=2log|y+2|=x+2log|x|+C

Hint Write the given equation as %- {1 - x)i+ y)and
sobve it.

I
[Ans. log| 1+ { = x-x?+ c]

Hint Write the given equation as
and solve it.
[Ans. -.ﬁ -x" 4+ 1||1- ¥y =0

Hint Write the given equation as dy = I—d.rmd solve

ylogy x

it. [Ams. y=g]

Hint Use the formula, sin3x = 3sinx = 4sin” x
rﬁ.ns. cos y = i::m X+ Lms fx = C-l

| 4 12 |

tam™ =2
Hint Write the given equation as - f:.‘xl Y dy
1+x 1+ y

and solve it.

[Ans. %(ta.n" x) + logjl + y¥| = C‘]

Hint Write the given equation as :‘;:i di + %d}' =0
and solve it. [Ans. tanx-tan y = C]

Hint

{i) Write the given equation as EM_ X dr= sny
+sinx

1+::ns}l_

{ii) Put i +sinx =u in LHS and 1 + cos y=v in KHS to
salve it.

[Ans. {1 + sin x){1 + cos y)=C]

2.

24.

25.

Given differential equation is sin [%) =g

=3 ﬁ =sin""a
dx
Om separating the variables, we get
dy =sin™a dx
On integrating both sides, we get
J-r:l‘_-p: [sin"ﬂd_t = y=xsin"a+C
which is the required solution.

. Given differential equation is log [—i—') =3x 44y
= ﬂ-rllwl:l = ﬂ- E'l:E-l:l
dx dx

On separating the variables, we get
‘—d}' =gy
g

On integrating both sides, we get

e~ g¥

J-e""'d}l = je"dx = - = ; +C (1]

which is the required general solution of given differential
equation.
Given differential equation is
e'tan y dr #(2= e Jsec” ydy =0
which can be rewritten as

e* tan y dx = {e” = Zjsec” pdy
- seC Y gy =5 dx
tan ¥ et =12
sec” y e’
—d d
- J-tan}r '“L‘-z "

= log |tan | = log |e™ = 3+ C
[ 1) gy o toe | fix) 4 )
lj Tn) sl €}

= log | tan y=log|e* =Y =0C

e“;_"_le. e [ logm = logn = lo %]]

e

= log

= g-f [“logm=n=m=¢"]
e -
= tan y=e"(e" = 2)

MNow, it is given thaly!%mrhenx =

T
lanT!e':{r"-E] = 1= (1=2) = £ ==

Thus, the particular solution of the given differential
equation is tan y = 2=g".

Himt (i) J-ei’djr = Ilr:l‘x

&
(ii}) Put y =13 to get the required value ufx.[.ﬂ.m.f ;9]



26.

1.

Given differential equation is {x -1}% =2x"y.
Om separating the variables, we get

= ﬂ-?{ x ]n‘x = ﬂ-

2[{15'“”]:&
¥
(x=1){x" + x +1)

—1
+ : ]dx
{x=1) (x=1)
[ a® = b* =(a = b} (a® + ab + F*}]

= -dlnz x’+x+1+;dx
¥y x=1

On integrating both sides, we get

I‘i??-zj[x‘+x+l +ﬁ]d¥

1 2

= hg|y|-2[:?+%+x+lng|x—1|)+ C,

which is the required solution.
Hint Differential equation reduces to

dx = Iﬁdf and for simplifying this put
tan y

e
j{e’ =1}

e =1

R P |

. Given differential equation is

el = }lzd_t + ld}. =1
X
= e’.,ﬁ-}l’dxl :Ed}-
x

Omn separating the variables, we get

Yy = xedx
=

O integrating both sides, we get
[
On putting 1 = J,r‘ = then-ya‘y:?in LHS, we get
I T
J-Ed' -jn' dx
= %[Eﬁﬁ] = xje'd'x = j[%{ﬂ[e'dx]dj

= -Jl—_}r‘- xe‘—jt'dr

Om putting y =1and x =0in Eq. (i}, we get
—1=0=e"+C = C=1
Om substituting the value of C in Eq. (i), we get

qq—}-z-xe‘—r’+1

which is the required particular solution of given

differential equation.

[purdng t =1= y]

= 1|E—y’-xe‘—r’+[‘ i)

[ &* =1]

29,

30.

Given differential equation is
dy

e =x 41
Mow, taking log on both sides, we get

2 - tog x +1
On separating the variables, we get

dy = log|x + 1| dx
On integrating both sides, we get

[dy = [log|x +1)dx

1. +1|d
= F'Iuhﬂlf | dx
i
1w = | ——. xdx
= y=log|x +1|-x I,+1 x
(x+1=1)
1 1= | ———dx
= y=xloglrey- [R5
(x+1) 1
log|x +1] = v = .
- y=xleglr+y {j{x-l-l} [x-l-l JrIl
dx
log |[x +1| = |dx + | —
= y=xlog|x +1| J-x Ir-l-l
= y=xlog|x+i=x+log|x+i|+C P 1]

= It is given that y =5 when x =0

S=l-log(0+1) =0+ log|d+1|+C

= C=5

Mow, substituting the value of C in Eq. (i), we get
ve=xlog(x+1)=x+ log|x +1] +5.

which is the required solution.

Given, %ll+r+}r+xy
= £-1{1+x}+}l[1+x}
dx
= dy =(1+ x)(l + ¥} -Ai)
dx
On separating the variables, we get
1
——dy =1+ x)dx i)
L+ y)

On integrating both sides of Eq. (i), we get
1
J-mdjr = I{'I + I}ﬂ'_t

I
= log 1 + }'I'I+I?+C i)
On substituting x =1, y =0in Eq. (iii), we get
log Ji+0]=1 +IE+C
= C -—% [-- logl =0]

Mow, substituting the value of C in Eq. (iii), we get
2
log 1+ y|=x+ -2
which is the required particular solution of differential
equation.



31 Hint (i} Write given equation as, irlv- ={14+x* )1+ ")

Further similar as Example 1.
(i) Given that, y =1, when x =0
o By using these values in general solution, we get

19
an {lj=0+0+C = C‘-T

*x
A.ns.tan"y-x+x—+—
3 4

32. Hint (i) Write the given equation as

14 x°
and solve it.
{ii} Use x =0and y =1 to find the value of C.
[Ans. y* = 2x" =1=1]
33. Given differential equation is
(1= )1 + log | x|} dx + 2xy dy =0
On separating the variables, we get
TETTE TN
x =¥

On integrating. we get
J'[l_+1£'ﬁ.'ﬂ)d:+j_2}r_1d}- =0
x x 1=y

= togx| + LB _pogp - y1=tog ¢
Also, given y=0and x =1
lug1+@-lngp-u|.1ngc

= D+0=0=logC
= log C=0
Putting log C = 0in Eq. (i), we get

{ ) :
tog ] + CELI _ 1og - yy=0
'H.Eiven Jiﬂerer.n-jal equa;l.iun-is
(x = y)(dx + dy)=dx = dy
= .11'_1'+:::I‘J.l'-—dljr-ﬂ‘!}I
=¥
O integrating both sides, we get

[tdx +dy)=] & —dy
x—y

Put x = y =r, then
From Eq. (i), we get

x+}--j Enl-u.gl:l-l-f
t

dy = dy = dt

¥ dy=m_¥
14y

dy

i)

= xéy=log|x=y|+C [putting t = x = y]_ii)

It iz given that when x =0, then y =-1
O+ {=i)=log|0+1|+C
= C==1

[ logl =]

35.

On substituting the value of C in Eg. {ii), we get the

required particular solution
x+y=log|x=y|-1
= log|x=y|=x+y+1
Given that 2tsnx d_y-_mx
14y Jdv
- dy o COSX
i+y 2+ sinx
On integrating both sides, we get
i €05 X
r— -
l’1+:|."n‘:bll IZ-I-si.nx
= log|1 + y|==log |2 + sin x| + log|C|
=log |1 + y|+ log|2 +sinx | = log |C]
= log|(1+ y}{2+sinx)|=log|C|
== (1% yH2+sinx)=C
1+
- }I-E-i-si.nr
= = =1
¥ 2 +#sinx

It is given that when x =0, then y=1
1-%-—1 = (=4
O putting C = 4 in Eq. (i), we get
4
=1

L 3
y 24 ginx

Tt 4 4 4 1
Now, y[—)- 11:-1- =l=—=]=—
2 2"'5'.]1; 2+1 3 3

36. The differential equation of the given curve is

sin xcos ¥ dy + cos xsiny dy =0

= mr-ﬁ'+m}'dy-ﬂ

oS X cos ¥

= tan x dv + tan ydy =0
O integrating both sides, we get
jtan x::‘.:r+jla.u ydy =0
o o - -
= log |sec x| + log |sec y| = lag|C|
- log |sec-x -sec y] = log]|C|
= sec x-secy=C
Since, the curve passes throngh the poinl(ﬂ. %}
Therefore, put x --Eland_'pl%in Eq. (i), we get
EEGSEEE--.C = -Jf

On putting the value of C in Eq. (i), we get
sec x -sec y = of2

X

] =42 = Cos -5ec
Cos ¥ y Jz

= BBEC X

s X

Hence, required equation of the curve is cos y = T

2

i)



37. Let x and y be the x and y-coordinates of the point on the

38.

curve, respectively.
We know that the slope of a tangent to the curve is given
by &

=
According to the question, product of the slope of tangent
with y-coordinate = y-coordinate
- dy
ie. ye===x

dx

Mow, separating the variables, we get
ydy=xdx
On integrating both sides, we get
z 2
¥ .= :
dy= |xdy = —=__ % i
Jrdv=] = 0]

Since, the curve passes through the point (0, = 2),

=2y 4
Iherefurewehave{ 2] =04 = C-E-E

Om putting the value of C in Eq. (i), we get
E - jr—2 + 2

2 2
= ey +d=0
which is the required equation of the curve.
It is given that (x, ) is the point of contact of tangent to
the curve.
The slope of the line segment joining the points
(x5, ye) = (x, y)and (x, y,) = (=4, = 3)

_y=i=3) _y+3 f _F=n
x=f=4) x+4 [ slope of tangent x-x,]

According to the question, slope of tangent is twice the
slope of the line segment.

ﬁ - 2[ y+ 3)
dx T4
MNow, separating the variables, we get
Ay (i] dx
¥+3 x4
On integrating both sides, we get

[ [Z]n‘x
y+3 x4

= log| y +3 | = Zlog | x +4| + log | C]

= log |y +3%|= log | x +4|* + leg|C|

= |QEM.1:.E|{;'| [‘,']ﬂgm-hgnlhgﬂ]
|+ 4 n

- 43 _ - i)
(x +4)°

Since, the curve passes through the point (=2 1}, therefore
we have
(1+3)

—IIC':&-E' =]
(=2+4)

39,

40,

4.

On putting C =1in Eq. (i), we get

{—L +:]]1 =1 = y+I=({x+4)
X+

which is the required equation of curve.
Hi.rll-i%l }.4.;:_' [Ans. y= Kxe"]

The figure obtained by the given information is given
bl Y
0. 2v)8
¥ m Mix.ﬂl
'rf
Let the coordinate of the point F be (x, y) It is given that
F iz mid-point of AB. So, the coordinates of points A and B
are(2x, 0) and (0, 2y), respectively.
=2
Now, slope of AB= 22X = _ 2
e Sy —0 T x
Since, the segment AH is a tangent to the curve at P.
LI SN\ JR 1
dx x ¥ x
On integrating both sides, we get
log | y| = —log|x| + log|C]|
> log [ yx] = log |C
= yo=C i)
Since, the given curve passes through the point (1, 1)
lidl=C = =1
anuttmgl‘_"-lmEq (i), we get
xy =1
It is given that slope of tangent to the curve at any point
(x. y)is }--
[ eyt o Ay y-1
"" X 4x dr  x"+x
- _- dx
=1 x*4+x
O integrating both sides, weget
j}' =1 B [: + X
- -r jx{:-l-l}
1o Jax
- J-[I x+1
= hg[y—1|-lng|:|—hg|x+1|+ log |C|
xC
=1 = log| 2=—
= log |y 1| = log r+1|
=3 y=1=

{x+1)



41

43.

+

Since, the given curve passes through the point (1, 0).
ll—l-£ = C==32
141

The particular solution is y =1 =

x+1
= (y=I1Mx+1)==2x
= (y=1)x+1)+ 2x =0

Himnt J-d'}.' -J-e'sinni_t
I..e*tl'-[e“'sir:xdx = [ =sin xje'dr-jﬂ?sre;:dx
= [me¢"sinxy=e"cos x=1
£*(5in x = cos x)
2

g"(sin x = cos x}+1]
2

+C

Ans.
=5

Given differential equation is
d}l ¥ +msec[ )-ﬂ:bdy-l-:m[y] .1}
dy x dr x x

which is a homogeneous

213

differential equation as

On putting y = wx mﬂ%-v+x%in£q. (i), we get
dv
¥ X — = ¥ = COseC v
dx

= IEI—Emv=5int'tfﬂl-T
On integrating both sides, we get
J.sin '|.|'d'1.|'-—l[E
x
= =—oosve==log|x|+C

= cosv=log|x|=C
= cns[l)-hg|x|-f
x

Also, given y =10, when ¥ =1
Then, cosO0=logl=C=1=0-C=C==1

[puuingv = %} .- A}

So, Eq. (i) becomes cos [l) = log|x|+1
x
which is the required equation.
Hint
(i) Show that the given differential equation is
homogeneous, ie. Fiir, lJ.r} =1"Fix, y)

(iii) Solve as Question 43. [ ] u(l}

[ o2

(i) Write the given equation =

45.

+6. Himt

47.

+8.

49,

P

Hint Write the given equation asd— =

. .
x Ing[ ] ¥y
X
Futy!m.thenv+xd—”-”—h5”—
dr  logw=+®
logvdv=|—dv= | —
= [y logvdv-[—dv=[—

-z
= v—zlugv-J-l—(v"!}dv- log |v|+log| x| +C
1
-—ln -—=lo +C
= ——logy =~ = log x|

[m x’[z lug[%]n]nyz Iug|_-.r|-1y‘C]

dy _ (2)e=(2)+ '
“ o)

(i) Substitute y = vx to solve it.|:ﬁ|.m. s'm[l] = log |C‘.‘r|]
x

(i) Write the given equation as

Hint

(i) Write the given equation as day =2- [i}
x ¥
(i} Substitute y = wx to solve it.

Ans. log |y =x|=0C+

(y=x) ¥
dy _ (?]
14 [E)

5 +1°sl:-'|-f]

Hint (i) Write the given equation =

{ii) Substitute y = vx to solve it Ans. —

Given differential equation is
(14 )1+ y'hde # (14 p){1 & x")dy =0
1+ x) {1+ ¥l
= dx + dy =
(14 x%) {1+ _'|.r1}
[dividing both sides by (1 + x*) (1 + ¥*}]
Now, integrating both sides, we get
J- {1 + I} I {1 - jl'}
f1+x } i1+ y‘}

=J'{ + lldx+jjl

1+x* 14+x" 14 y*
d i 2 d i 2

- -[1+J_::=+EJ-1+1;-‘JI+[1+F}-=+EII+:; dy =0

1
=ta.11'°x+; Iug|1+x=|+ tan™ }'+-Iu;g|1+y’|-l'_"

+—L}dy-ﬂ

14y

~ log] 14+ 3% |+ log|1 + y* [} =C
which is the required snlutlm:l_

=tan™" x 4 tan~ y+



50, Himt z
(i) Write the given equation as % =] = Z(E] + [l}

x X

(ii) Substitutey = v aﬂdd—"r =y xd—? to solve it
d.r dx
[ xadz
|-A H.Z {C‘.‘r}"r]
51. Similar as Example 6.

HultJ.r-i-x—-E!x ;|.r—E Erx =X_-Y
x+y

[Ans. y* + 2xy = x" =]

52. Given differential equation can be rewritten as
xy sin (-E] dy = y" sin [-}_)dx
= xy cos [l] dx + x* cos (—] dy
x X
= [ryﬂn(f]- x" cos (-% Jd}r
= E. i E.
[xJ.r CO% [:]+ ¥ sin [:]]dx
t_fz i Xy cos [%) + y* gin [%)
& in[ 2] = x* cos (2
xy sin (r] x° cos [x]
22 (2
d_}'_ x x ¥ x
dx lsin [l) = Cos [l)
x x x
[dividing numerator and denominatar by x]
Clearly, the given differential equation is homogeneous as

fzr.f[z].

Pt

=

i)

Now, pulyltlx:&ll v rj" i)
i
From Eqs. (i) and (i), we get
dv veosv4visinw [ ]
I e — T
dx vsin ¥ = Cos ¥ x

dv  wocos v+ v sin v—v®sinv+vcos v
= yx—m=

¥ &N V= Ccos v
dw 2v cos v
= r—mm—
dxr wsinwv=rcos v
On separating the variables, we get
¥ Ein V= o5 v dx
V CO5 V X

Om integrating both sides, we get

[(.m -l] dv=2 @

53.

54.

= Ing|s-e4:vl-lug|v|=2hg|x|+luglf'.|

= [ =g c,|
= lng -Ing|C‘|
=(3)
= SE—:I-C, = =(, ['."I.'IEJ
Lt Jr{.:'} X
x
=(2]
= _I-C'. gm(l‘[]- .{:}r]
xy x

which is the required solution.
Given differential equation is
ve Ty = {xe™T 4 Yy, y 20

R
o oo 7

and it can be written as, E =

i
o i)
dx dv
Mow, substitute r=vy = —=v + }F—
dy
) dv e+ oy
~. From Eq. (i), we get v + y— =
dy e’
— Jra!'l.r ve"':- E-v
dy £
— er_v_ "+ E'-ve'
dy P
= er._'l.l'-l'
dy ¢
= e"dv = dy

On integrating both sides, we get
e'=y+C = e =y+C [putt'mgvni]
¥
which is the required solution.
Hutnﬁmnaqﬂlmmmhunngﬂm.ﬂmrtnambe

Em__f[ ]mg[ ]Emthammhauemplmamd

ﬂ'letype-inFﬂ-IS.Sn,tu sanplify it put x = v
¥

Given differential equation is

2y-e"Mdx + (y = 2x ™) dy =0

= 2y.e"" E+|.{:.l =2y &™) =0
dy

= Zy-e"’d—xnixne""-y
dy
- ‘I -
- o ey i)
dy 2y.e™T



55.

x*i‘"" — :'P
2p- ™

A x)e™ M — iy
q 1}']!“"1”
- A2x-e™ = y)
AiZy-e™™)
So, Flx, y)is a homogeneous function of degree zero.

Let F(x, y)= :
Then, Fix, Ly)=

= 1°[F(x, y)]

Therefore, the given differential equation is a
homogeneous differential equation.
i
¥ x -
O s ] I
) dx dv .
On putting x =wvy and — =v + y — in Eq. (ii)}, we get
dy dy
- dv v e =1
y dy EE'
dv  Zve" =1
=% y—=—-=y
ay 2
dv _ Zve' =1=2ve"
= yom—
dy Ze
dy Z2e”
Om separating the variables, we get
Ze" dv =~ dy
¥
O integrating both sides, we get
j 2e" dv == [ L
¥
= 2" ==log|y|+C

= 2=~ log|y|+C [put[in.g ve= £] -.(1ii}
¥

Also, given x =0, when y =1
Mow, put x =0and y =1 in Eq. (iii). we get
2e" =< log|l|+C
= 2=+ C = C=2
On putting C = 2in Eq. (iii). we get
2™ = < log| y|+ 2

= 2™ 4log|y|=2

which is the particular solution.

Given differential equation is
dy___1
dr  x(x® =1)

1

x{x‘-ﬂ%-t =

S &S oGy ¢ T et
— dy dx

= x{x=1){x +1)

Om integrating both sides, we get

dx
Idy.jx{x-1}{:+1}+c
= y=I+C 1]
dx
where, I-J-—
x{x =1){x +1)
LEll—-ii' g + £

Hx=1){x+1) x x=1 x+1
= l=Alx=1){x +1)+ Bx(x +1)+ Cx{x =1)
On comparing coefficients of x°, x and constant terms

from both sides, we get
A+B+C=0 i)
E=C=0 - i}
and -A=1
= A==1
Om putting A = =1 in Eq. (ii), we get
B+C =1 v}
MNow, adding Eqs. (iii) and (iv), we get
2B=1=3B= IE

On putting B = ‘Ein Eq. (iif), we get

I-—-E'--L‘I=a-f:!l

2 2
1 1
A== B=—apnd C=—
2 2
1 =1 1 /2
Thus, = % 2 + !
x=1}{x+1}) x x=1 x+1

On integrating both sides w.rt x, we get

P S B
xlx =1)(x +1)

=1 1 dx 1 dx
o Baahed bty b

= I!-hg|x|+%hg|x-1|+%lng|x+1|
Om putting the value of [ in Eq. (i), we get
y!-luglx|+%1ng|x-1|+%1ug|x+1|+f ¥)
Also, given that y =0, when x =2
On putting ¥ =0and x = 2in Eq. (v), we get
ﬂ--lng2+1zlugl+lzlugi+f

= C-Ingz—%logi—%logﬂ
=C-lugz-lng15

2
= C-hE«_,E
On putting the value of C in Eq. (v}, we get

[ log1=10]

1 1 2
=lo +—lo =1|+—lo +1]|+1
y==log| x| . gl x=1] . g|x +1] e
which is the required solution.



56.

58.

Given differential equation is —E M
dx sin y+ ycos y
Om separating the variables, we get
(sin ¥+ y cos ¥)dy = x(2 log x + 1) dx
= sin y dy + y cos ydy = Zx log x dx + x dx
Om integrating both sides, we get

jsinjrdjr+[;|l.rm: ydy !Ejlz:lnglxd'x+jxdr
= = CcOs y-i-[yjms. ydy = H:—}I{y}’[ms ydy}dy]

d x*
-E[hgx[xdx-j {Eﬂngx}der‘l dx]+?
= =08 ok yﬂ'ny-[sin ydy

[ R
Elx?lngx-j JII;KI?}:&J*.%

= =05 ¥4 yEin y+cos y .

-x‘lugx-[xd'x+x—

2

4 z
=ysiny=x logr="—+ — &
ysin ¥ (] 2 3

=ysiny=x"logx+C i)
anuttingy-%andxnlmEq. (i), we get

¥ uin [%]-{l}’ log (1) + €

2

= C-E [ iiII.Ell. log1 -ﬂ]
2 2
On substituting the value of C in Eq. (i), we get
ysin p= x* log x-l-%

which is the required particular solution.

. Hint Given differential equatmn can be rewritten as

J.rl{l-ay} |{.1:+r:|] y {i—a}l} I+t:|
[Ans y = C(x + a){1=ay]]
Given differential equation |5—'1'—I "I.l'_}'_
Xtk x bl
On separating the variables, we get
dy + . =0
J.r1+:|.-+1 Xk x 1
Om integrating both sides, we get
J- ld_'p R ldx s
YVEyp+l X+ x+l
I 2
z z
1 1
+y+l+|=] =[=
vy (2) (2]
+[ dx =

59,

= dy —+ & —=c
(i) -3 T (eg) o)
= [ [
(+ {?ﬁ] (++ {f]
R P A Y
= 3tan"lT_31 +:Eta.u" EiJ-C
[ J e bt
x 3

[ tan™ x + tan”' y =tan™ [u]]
1= xy

Zy+1+2x+1
-1 ;5 -*_
1_[4£+2x+22+l]
3

= tan

3(x + ¥ +1)

= k
I=(4xy+ Zx+ 2y +1)
. 23 (x + y +1) I
2{l=x = y=2xy)
= J:-l-J.r-I-l-i.Lank{l-x-y-Z:}r]
= x+ydl=A(l=x=y=2xy)

where, A = 5,. tan k is an arbitrary constant.
3

Given differential equation is

Let Fix. y)= x+2}l, then
x=y

hx + Zi.y_l.l{x-l-ﬂy}-
Ax=ky Alx=y)
= lnF{x, ¥l

Lx + 2y)
=y

Filx, dy)=

So, Flx, y) is a homogeneous function of degree zero.
Therefore, given differential equation is a homogeneous
differential equation.



Also, the given differential equation can be written as
ﬂ = M- f(l] - A}
x

dx  1={x/y)
On putting y = wx andﬂ-v + xd—vinEq.{i],weget
ax dx

dv  x &+ 2wy
=

VX —
X=wx
dv 1+ 2v
= v x—=
dy 1=w
- It:l‘v-l+21.r Y
de  1-w
dv 1+ 2v=vsv®
= — ==
dx 1=v
dv 1+wv+v’
= A—
dy  =(v=1)
On separating the variables, we get
Md_ o p——
vievael X

-1 dx
—_—dv=— | —
[v2+1.r+l jx
- lj 2w =1) dx
24 viav+l X
27 v kvl x
. j{z-.-+1]- e
L TR L) | X
2v +1 3 dv dy
- do=f 2 =
j['l.l'2+'|.|'+I] v Ijv2+v+1- Ir
. 1 |u=+-.r+1|-1j“i—".-1o |x|+C
i 2 1y 1 . '
(v+—) ] ==
2 -+
[- put v v +l=i = (2v+1)dv=dr 1
{2v+1} dr
W= = |o =log v’ + v +1
w] oy dv= [ —=logl=log vt 4 v+
=~l|ug|v‘+v+1|-§f i -
2 2 iy ‘\IE
(H_)a, i)
2 2
==log| x|+,

1 3
= —log|vi+v+l]==
> log| -3

Gl.

==log|x|+C, ir_ dx

I"'l]

o (2]
= %Ing|v‘+u+1|-§_j; (%3:_'

=—log| x| +€,

'3
o
1| },z }' 3 -l I+1]
= —log|—=+=+1]-=—=tan J
2 x x 2 a3 ._.||3
L9
==log|x|+C, [put:'mgvan
x
e Xt | o f2yex
= —log | ———|=+/3 tan
zhﬂ : k33;.»
==log|x|+C,

1 £ 2 l 2
= Zlog|y" +xy+ x| -Zlog|r]

-Jim-'[in}j;*;—x].-lamxpc,
r"lu M = logm=lo n]
| B~ log Ej

=%Ing|y2+xy+xﬂ-lnglxl-qﬁl:an'“{iﬁz:—x}
x

==log| x|+

= %hg|f+1}'+xz|-1ﬁlan [Eﬁ;:—x]+f.

= |n;g|}rz+x;|.r+x|-2‘\||'-tan [—%‘l—x + 2C,

= log|y* + xp+ x¥| = Eﬁtm_'[-ﬁ——] +C i)

LIS
[purring © = 3]
which is the required general solution.

. Solve as Question 59.

Ans. log | y" + xy + x2|-24[3_un'“[2}|+x}-§,

B

Given differential equation is
[x:i:f[l)- y} desx dy=10
x

—r
P =

= —_—

dx x
- wsin?| £
¥ = xsin [x)
x

i)

Let Flx, y)=



6.

l.y-lx:mi(ﬂ]
— A

Then, Fiix, hy)= -
x
Jl.[}l-xﬂ'n‘[l)]
x
=t = 'Fx,
rAx Fix.y)

Sa, —E—I- Fix. y)is a homogeneous differential equation.
dy

Putting y = vx and o= '|.r+:

mEq (i), we get

. zf VX
wr—xsin’ | —
dv [:]

Vo Y=
dx x
= v+xd—u-v—:inz{v} =% xd—‘l--sinil{tl]
dx dx
= cosec® v dy = =—
x
Om integrating both sides, we get

Icu&eﬂzvdv+j£=ﬂ-
x
= —cntv+lu-g|x|-f
= —Eﬂt('v] + lng| x | =C [putl:i.ng ve I:I 1]
x
Also, given that y = ?whenx =1
-cul%i-lug |1|-|‘_"

= C==l4d = C==1
S, the required particular solution is

-cnt[l]-i-lng'xl-—l

x

= 1+ hgl:l-:ut[l]lﬂ
x

Hint Given equation can be rewritten as

dy _y__1 i)

(i) Let F(x, y)= £ =
X

ﬂ'nz

x
FOx. hy)m ¥ ol el 2oL
Y xRy x . ¥
sin —=— sin =
hx x

=1"Fix, y}
Sao, the given differential equation is homogeneous.
On putting y = vx, then the given equation becomes

sinvdy = —£
X

[Ans.cn.s Le log |x |}
x

63. Hint Given differential equation can be rewritten as

F{x }I}.i _L.

2x - x og 2

Verify F{ix, Ay)= F(x, y)

ﬂ]:I.PL'IIIJIIE y=a and ;—%-u+x%lhengive'n

equation becomes

et b
v{lngv—l} X
Omn putting log v -:and—dv-dt‘,wege*t

IE-I

= I[ﬁ-l]m!lﬂglth‘

=log|x|+C

Iugz—l
Ans log| —EX —|=C
¥

. Given differential equation is

. o . -
de x4y Flx.7) -0
Om replacing x by i and y by Ly in Eq. (i), we get

Flhx, Ly)= =" F(x, y)

_hxy
A x® + pF)
Thus, F(x, y)is a homogeneous function of degree zero.
Hence, the given differential equation is a homogeneous
differential equation.

dy dv | .
Mow, put y = vx and =y 4 ¥ — in Eq. (i), we get

dx dx

dw W dv v
vEr —=—— ==y —= =
14w de 1#v

dv  w=wv=2?

== X —= <
dx 1=w
= _rdv- v
dx 14wt
1+ w?
= i dyvem=—
v x

Om integrating both sides, we get

I(Ge3)er=-1%

= —%+ log|v|==log|x|+C
W



65.

2
=-;?+hg}é|!—log|x|+f I;pu::'mgvnaf]

X
2y +log| y|=log| x|==log|x|+C

=% =

= -

_{ii)

It is given that y =1, when x =0
From Eq. (if). we get
log|l|=C

= C

> loglyl=Zs = y=e”
2y

which is the required solution.

Given differential equation is

dy+(xy+ y')dx =0

= xldy == (xy + y*)dx

-

- BB

which is a homogeneous, as iig = f[l}
dx x

Om putting y = wx and—dzuv + X ﬂinE.vc|.{i],1.l.reget
dx dx

v )
Vb ===y =y

= A— == 2y =y
= dv-—--dx
v+ X
1 1
= dv==_gdx
v(2+w) x
2
= ve=—dy
2w(24+v) x
11 1 1
= == dv==—dx
28w w42 x

1¢1 1 1
= ;j:dﬂ—EIVI'.Ed?I—[;thi'ID‘EC

= l;lnglvl—llng|u+2|--lug|x|+ log C

=. -_—
log v 2
=%
hE L ]
L l!I'1
= ==
v 2 x

[pun'mg V= l]
X

- (5

Itisgiventhal}'-l when x =1

(5] 3=

Hence, the particolar solution of given differential

equation is 1
Yy -3

y+2ix x°
= Y . L
y+2x 3x

= 3_1'1}- = y + 2x, which is the required solution.

Gh. Hint (i) Show that the given differential equation is

homogeneous.

o (8

(ii) Write the given equation as —-
[l)-1

{iii) Substitute y = vr to solve it. [Am. ==log|¥= C‘]
x

67. Given, x%dy =(2xy + y')dx

dy Zo+y” 2y, [E] i)

dx x* X x

[the given differential equation is homogeneous]
On putting y = vx and —dln v+ I-d—v:iIl.Eq. (i), we get
ax dx

dv 2w vy’

VY —=— =y 4y

x

= r—=vir
1
-
viv+1) x
ra - Y

={l— ! ]dvnli:'
voov+l x
Om integrating both sides, we get
1 1 1
I:d?-Imn‘vl[:dﬁ

= logv—log|v+1]=log|x + log|C|

= |:'1!I|—"r |-|ﬂslﬂrl
vl

= Y =cCx _{ii)
:'|'+.'I.'

When y=1 and x =1, then

1
—-C'=5.C-l-
1+1 2



On putting the value of C in Eq. {ii). we get

y:x!%x =» 2_'|.|'!.74:;|.|'+.1r1

= 4+ xy-2y=0

. Given equation can be written as
x4 x

dy =
Y (x +x* + x+1)
On integrating both sides, we get
Ixt o+ x
Id}. j{x +x°# x+1)
- :"'-I Ix 4 x
{x+1)(x* +1}
2x 4 x A Bx+C
Let
{x+1}{x’+1}-{x+1]+l{x=+1}
- 2x* 4 x _A{x’+1}+{ﬂx+c}{x+|]
(x+1)(x" +1) (x+1){x*+1)
= Xt x=x A+ B+ x(B+C)+(A+C)
= A+B=2 B+ C=1land A +C =0
= a“l-l—.ﬂiimd l‘_"--l—
2 2 2
3 1
Pl
- + A
- F" [[I+I}J {fn}“x

= r-—lus|x+1| —[

Put x* +1=t, then 2xdx =di

x* +1) -_j{x T
y = ~log|x +1| + 2log|t| = ~tan™'x 4 €
2 4 2

= ym ;.[Iug{{:' + 1P -I-l}’}]-%l:m:"x +C

When y=1and x =0, then
i=C
.. The required particular solution is

y-iﬂog f{x +1F (x* +17)Y] -lztan"x +1

69, Given differential equation can be rewritten as

dy _x' =3 _ = [%]2 0

dr  y'-3x® '
)
x x
which is a homogeneous differential equation, as
dy :-f]
dx = f[x

Om putting y -wandﬂlu + x EinE.|:|.1'_i:|,1.l.re;get
dx dx

= vex -|-3.‘.=
dr  v'=w

dv  1=%"
=3 X — -
dr w' =1w

dv  1=3° =v' + 3¢
= x—-!_
v =1y

dv  1=v'
—_—
de v =3y

= {v,—h]dv-d—x
i=1 x
On integrating both sides, we get
I[t‘ -h)dﬂlj E
1= x
- j[

3
= Il_‘l“ln‘v-ﬂj -

= I,-i!znlnmf'xl .. {iii)

)dv = log | x| + log|C,|  --{ii)

= dv = log |C x|

dr
Put1=+' =t then = #v’dv=dt = v dv!-T

I.-I:—r--—:lnglrll-é—lngll-v‘I
[putting t =1=v"]

vdv '_[ vdy
4 1-'{';1}1
Futv‘-z,thenvdu-%

1

1 14z
I‘-E-I’1-z’-z:-c;:a

l-zl

[t Lefete]

[purting = = v7]

1+ %*
1=w7

l
-i

On substituting the values of [, and I, in Eq. (iii), we get

-—hsll-'-"l-—h v 7|=log ICx]
1 w1+
= --103‘{1-'-'![ ] = log |
4 1=w
= -—11:5 l=w }{I-i-'l.-‘}is-cff ; = log | Cx]|
=
1+ v
= | — =log|Cwx|
1=v")
v T -
I:{l-vl}z a



{1+ %)

Ty (e

[raizing power (= 4) on both sides]

[ ]
=5 - e {W:tmgv xj
(-]
— (=% & ) - 1
xt = 'Y Ol
= (x =y =Clx + )
= (x* = ¥ )=Clix"+ v'F  [taking square root]
= -y =0 + ¥ [putting C; = C]

which is the required general solution.
T0. Hint (i) Write the given differential equation as

)
dy x x
dx = ¥ ’
()
(i) Substitute y = vx to solve it.

(iii) Use x=1and y =1 to find the value of C.
[Ans. y'x® + 2px” = 7]
7l. Hint Given equation can be rewritten as

F(x. ﬂ.iﬁ.f_‘x*ﬁ D)
Verify F(Ax, hy)= L'F(x, y)

On putting y = wvx and-il_- v+ r%, then given equation

becomes
dv '|.l'1—".||l-l-'|.|'2
o — e
dx W
dv -ﬂ.lll + v
=% X —

dx v
[Ans ofx + " + x log | x| =Cx]
T Given.{x cos [£]+ ¥ sin [l)ll ydx
x x
-{J.rs:'.n[l)-xcm (E]} xdy
x x
y{xms-}_+ }-s.'inlz-}
= =

dx I{J.rsinl-x:m E}

X I

i)

Clearly, the given differential equation is homogeneous.

Om putting y = wr and %‘- Vb x%inEq. (i), we get

73.

dv  vx(xcos v+ vxsinv)
v x —=

dy  x{vxsin v = x cos v)

dv _ v{cos v + vsin v)
—_—_—

= w+x .
dx v §in v = cos ¥
2 =
dv wveos v+ v sinwy
1  — e =

dx V50 V= Ccos v

T . T -
dv  veos v v sinvy=1v sinv+vcoos v
= X —=

VSN ¥ = CO05 W
dv v oos ¥

= X—
dx  wvsinv=cos v

— [tlsinv-ms v}dvngdx

¥ COs v x
1 2

= tan v =—|dv=—dx
v x

Om integrating both sides, we get
[ 1] 2dx
j tan v = — [dv= | —
v x

jl:anvdv-J-l:dv -Zjidx

=
= =logleos v|=log|v|=2log|x|+C
= log|veos v|+ 2log| x|==C
[+ log m+ log n= log mn]

= log [(v cos v) x’|==C
= (veos wix'=e™ [vlog, x=m = x =¢"]
= voos ve A [consider A =&™]
= v Lcos L=a r|:.|.|.t|:i::|,g V= .E-l

x x I_ xj
= Xy Co8 Y = A, which is the required solution.

x

Let F, be the initial population and the population after

I years be P.
According to given problem, we get

.d_Fl[.i]xF
dr 106

df _ F
= —=
dr 20
Mow, separating the variables, we get
L
F 20

On integrating both sides, we get

lngF-:E+C'. [P 0]

= P =" = 5 = O where 5 =0

= At t =0, P =P therefore we have P, = C-¢"

= C=F

Thus, P= P "™ (1]



74.

75,

Mow, let t+ yr be the time required to double the
population. Then, we have

2F, = P "
= =gt = hgil;—ﬂlnge
= =20 log2 [loge =1]
lﬂ}rbethepnpulatiunatljmet,lhend—n-cy.
t
= ?-k}',whﬂek is a constant.
iy
= ﬂ-kdr
¥
On integrating both sides, we get
log |Wl=kt +C [-y=a] i)
In the year 1999, ¢ =0, y = 20000
From Eq. {i). we get
log 20000 = k(0) + C
= log 20000 = - Aii}
In the year 2004, t =5, y = 25000
From Eq. (i), we get
log 25000 = k5 + C
= log 25000 = 5k + log 20000 [using Eq. {ii)]
25000 5
sk Ptk 2
-
1 5
k=—log—
- -5 E-i

For year 2009, t =10 yr
MNow, putting the values of f, k and C in Eq. (i), we get

log yllﬂxlglu-g (‘E] + log{ 20000)
== ].DS y= ].ng[fm k4 [%]1]
[~ logm + logn = log mn]
= y= EMHE}{E
4 4
= ¥ = 31250

Hence, the population of the village in 2009 will be 31250.

Let P and t be the principal and time, respectively. It is
given that the principal increases continuously at the rate
of 5% per year.

given that the principal increases continuously at the rate
of 5% per year.

ﬁliﬁof!’ = ﬁ-ip

dt 100
On separating the variables, we get

dPf 1

— d_r
F 0
On integrating bath sides, we get

IE-J.LJI
P 20
1

Pl=—it +(C
= log(F) -

Now, initially t = 0and P =1000, we get
log 1000 = C _{ii)

[ P=0] .41}

On putting the value of C in Eq. (i), we get

lng{F]-;—ﬂt+lng1ﬂm

i
log( F)j= 10 = —
= log(F)=log -

Pl
log| —|=—1
= el

‘When t =10, then Ing[%]li—xm

[ log m=logn= Ingﬂ]
n

20
= =" [ log x=m=s x =¢"]
1000 &
= L-e” =1.648
1004
== P=1000 =%1648
= P=1648

Hence, after 10 yr, the amount will worth ¥ 1643

76, Similar as Question 75. [Ans. 6.93%]
T, Let the rate of change of the volume of the balloon be k,

where k is constant.
Then, di{vulum} = Constant
It

- :_J' % j'l:r"] =k [ volume of sphere = %ﬂr’}

- (g

On separating the variables, we get

qgnr’ dr=k dr 1]
On integrating both sides, we get
anfrdr=k|d
k]
= -m%-hﬂ:
= dmr’ =3kt + ) 1]

Mow, initially ¢ =0 and r =3, we get
4n(3 =Yk w0+ C)
= 1087 = 3C
= C =341
Also, when t =3, then r=6
=3 O =341
Also, when t =3, then r=6
Therefore, from Eq. (i), we get
dn(e) =Wk %3+ C)
= Sa4 7 = 33k + 367)
= 3k = ZRAM = 36/ = 2520
= k=84r
Om putting the values of k and C in Eq. {ii), we get
4mr’ = YR4mt + I6%)

= 4mr' =4m(e3t + 27)
= r' =63+ 27
= r=(63r + 27"

which is required radius of the balloon at time ¢



|TOPIC 3|

Linear Differential Equation
A differential equation of the form

ﬂ:-r}l .dl.-]r}" ﬂf"']'-r .d:}'
A, o +A, = +A’ir"l +..+ A E+ A ry=0Q

where, Ay, A, Ay, A, A, are either constants or
functions of independent variable x, is called a linear
differennal equarion.

d? ¥ e 1}_
g e +x° o

+2 xy= x? is a linear differential

d? :
equation, but xy ’}I+E{£] +ap=x 15 a non-linear

di? dx
differennal equarion.

Mote Linear differantial equation is always of 1 degrea.

Linear Difterential Equation
of First Order
A first order differential equation in which the degree of
dependent variable and its derivative is one and they do not
get multiplied tng:rh:r. is called a linear differential equation
of first order.
Here, we will study two types of linear differential equation
of first order, as given below

dy

Type 1 A differennial equation of the form = + Py=qQ.
where  and €} are consrants or funcrions of x only.
eg %+ 2y=sin x. Here, P= 2 and ) =sin x.

Type 11 A differenrial equarion of the form % +Pr=0),

where P and €} are consmanis or funcrions of y only.

dx X 2
Ef. —=——=F.
¥

Hcrc,P=-l:mdQ=_rz.
¥

In e I, x 15 the dependent wanable and is the
ind.ctérgndcnt variable. P !

Integrating Factor (IF)

Linear differential equations are solved when they are mulaplied
by a factor, which is called the integrating factor, because by
multiplying such factor the left hand side of the differential
equation become exact differential of ame funcrion.

For type 1 Dhfferential equation, IF is 77
For type 11 Differennal equanon, IF s EIM'.

EXAMPLE |1|] What will be the integrating factor of
given differential equation y dx + (x — y*) dy = 02
Sol Given differential equation is
ydx #(x =y )dy=0

= I%Hr-f}-ﬂ

dx :
= y—+x=y
de i o i
=2 E+—x!y[d1mdmgbolhndesb}r}']
¥

whichisnfthefnrm%+ Pxr=(.

Here,F!IF and Q=y

1
—dy
. Integrating factor, [F = Jﬁr = eI ¥

- E‘HJ =y [._. fw[ﬂ = f{-‘l'}]

METHOD TO S0LVE FIRST ORDER LINEAR
DIFFERENTIAL EQUATION

To solve a first order linear differential equation, we use
the following steps
I. Express the given differential either in the form

dy
=3 =
ae y=Q or
IL If the given differential equation is of the form
d
Eﬂ Py=Q, then identify P and @, which are

dx
—+ M=)
& Q

constants or functions of x only.
III. Find the integrating factor [F by using the formula

I
IV. Now, the solution of the given differential equation
is given by
yIF = [(QxIF) de+C
In case, the first order linear differential equation is
of the form %+ Px=0), where PP and () are

constants or functions of y only.
Then, IF = ¢/ ™ and the solution of the differential
equation 15 g'nrcn b}'

xIF= [@xIF) dy+C



EXAMPLE |2|
differential equation % +(secx)y = tan x, ({] <x< g]_

Find the general solution of the

[NCERT; All India 2012]
Sol. Given differential equation is

ﬂ+I:5-En: x)y=tanx
dx

This is of the form %+ Fy=0.

Here, P=secx and Q =tanx.

Pdx dr
Now, Integrating Factor, IF = E‘I =ej”” = ghl=e ¥ rtansd
=sec x 4 tan x

and the solution of differential equation is given by
yxIF = [(QxIF)dx+C

= y-(secx+tanx)= Itanx{secx+tanr)a'x+C
=.|-tan:rsecr dx + I tan*x dx +C
=secx+j{seczx—1]dx+l‘:
[ sec® x —tan® x =1]

= y-(secx+ tanx)=secx+tanx—x+C,
which is the required solution.

EXAMPLE |3| Find the general solution of the
d
differential equation e ™ E}' +3e”y=1
Sol. Given differential equation is e* :r_}r +3ey=1
=2 e’ [d—“"'r +3 y] =1
dx
dy =2y
L isy=
= d_-,_- ¥y &

d
This is the form of Ey+ Py=0Q.
Here, P=3 and Q=¢™

_ J_ s
Now, Integrating Factor, IF = =g
and the solution of differential equation is given by
yxIF= I{Qx[F}dr+C‘

= }'xe“=_|-{e'n><£h)dx+c=jezdx+c
=2 yer=e* +C

which is the required solution.

EXAMPLE |4| Find the general solution of the
differential equation (3y° — x) dy = y dx.
Sol Given differential equation is
(33" —x)dy= ydx

dx
= 3y2—x=y—
dy

d
= yi+x=3}v2

= dx +x X 1. 3y [dividing both sides by y]
dy y
. dx
This is of the form d_+ Px=0Q.
¥

1
Here, P=—and Q0 =3y
¥
Now, Integrating Factor,
1
Lay
]F=E’JM=E[ ¥ =E_|os}'=y ['.'Ew””=fl:x)]

and the solution of differential equation is given by

xxTF= [(QxTF)dy+C

= x><y=J-3y><ydy+C=3_|-yzdy+C

3
= xy= ;:’ +C = 1}'=}'!+C

which is the required solution.

EXAMPLE |5| Solve the differential equation
dy
H
X' =1)—+2xy= .
( ) dx ad x' -1
[Delhi 2014; All India 2014C]
Sol Given differential equation is (x* —1) d__v + 2xy = 22
dx x* =1
On dividing both sides by (x* —1), we get
dy 2x 2 .
=4 cy= -1
dr  x* -1 7 (x* —1)°
which is a linear differential equation of the form
dy
—— 4 Py =
2 T 1 Q
2x 2
HE[E,P=H and Q=ﬁ
e .
Now, IF = ej e =eI RN I |

cputx®—1=t= 2xdx=dt

lj’ 2 dx = [Ldt = log 1] = log|x=—1|J
t

x -1

and the solution of differential equation is given by
y xIF= [(Q xIF)dx +C
2

= y{x’—l)=_[m-{x’—l}dx+c
= ;{12—1}=J'[122_1} dx+C

2 -1
= y(x®—1)= 2)(1103' ﬁ +C

xX—a

xXx+a

+c]

1 1
['I-x"'—a’dx=glng

which is the required solution.



TOPIC PRACTICE 3|

OBJECTIVE TYPE QUESTIONS

1 The integrating factor of differential equation

cusxﬁ + ysinx=1is
dx

(a) cos x (b) tan x
(c) sec x (d) sin x

2 The integrating factor of differential equation
dy .
1-x)—-—xy=1is
(1-+)—=-x
(a)-x (b)

X

1+x°

(e) 41— x* {d]%log{l—xz}l

3 The solution of x% +y=¢"is

@y="+% (b) y=xe* +ex
X X
¥
(© y=xe* +k @x=2+k
y o ¥

4 The general solution of differential equation
dy

=74 xy is
(a) y=Ce™ " (b)y=Ce*"*
(€) y=(x+C)e*"? (d) y=(C— x)e*""*

5 The solution of differential equation
dy ¥
@t
(a) x(y+cos x)=sinx+C
(b)x(y=cos x)=sinx+C
(e) xycos x=sinx+C
(d) x(y+cos x)=cos x+C

VERY SHORT ANSWER Type Questions

6 Find the integrating factor of the differential
e ¥ ] dx

=sin xis

NE

equation [

7 Find the integrating factor ofx% +2y=xcosx.

8 Find the integrating factor of }";g +x= }'3,
Ly

dy [Delhi 2015]

9 Write the integrating factor of the differential
equation

(1+ %)+ (2xy - cot y) % —=0. [All India 2015]

SHORT ANSWER Type I Questions

10 Find the general solution of the differential
dy 2y

equation — 4+ —=x.
dx x [Delhi 2017C]

11 Solve Id—:}"+ ¥ =cos X —sin x.
dx

dy
12 Solve —+ 2y =
dx ¥

13 Solve @ _ 2y=cos 3x.
dx

14 Solve the differential equation x% +y=x°

given that y=1, whenx=2.

15 Solve ydx +(x — %) dy =0.

SHORT ANSWER I Type II Questions

dy
16 Solvex — — y=log x.
dx Y &

17 Solve the differential equation

d : :
cosx-ay+251n x-y=sinx-cosx.

18 Solvecos®x & +y=tan x.
dx [NCERT]

19 Solve the differential equation

(L+x) % = [All India 2014]
20 Findthe general solution of the differential
equation (1+ »?) + (x — ™ -"}% =0.
[Delhi 2016; NCERT Exemplar]

21 Find the general solution of the differential
equation (x + 2y%) le =y.

22 Solve {1+xz)d—y+2x}f=;2, where y =0 and
dx 1+x

x=1. [NCERT; Foreign 2011]

2 -:i__}’_ — (2 2
23 Solve(x +l}dr 2ay =[x+ (x* + 1) [Dedhi 3019]

24 Solve the differential equation
(1+ x*)dy + 2xy dx = sec’ x dx.



25 Find the general solution of the differential 37 Solve the following differential equation
equation [xlogx}jx—y+ V= glu:zr,g:lr. zr—y+ ycotx =4 xcosecx, given that y =0, when
x
[Foreign 2014; Delhi 2010] x=mn/2. [Delhi 2012C; Foreign 2011]
26 Solve the differential equation (y + 3x%) E= xX. 38 Solve the differential equation
. dy =
[Ml India 2011] IE +1) =+ = I1+4.
dy { ) dx 2y [Delhi 2010]
27 Find the general solution of (x + y) ——=1
dx  [NCERT] 39 Solve the differential equation
28 Solve the differential equation xjx_y+ ¥ = xcosx +sinx, given that y =1 when
dy 1
)= +2xy= .
A y=X
2 [Delhi 2017]
29 Solve the differential equation .
o . 40 Solve the following initial value problem
(tan™ x — y) dx = (1 + x7) dy. [All India 2017] (2 +1) (x* +2x7 +1) ©)=0
. X+ —2xy=(x"+2x" +1)cosx, ={.
30 If y(t) is a solution of (1 +f) 3—{: —ty=1and Y-y !
#(0) = — 1, then show that y(1) = —_1 4 Find t?‘lE partlgul ar SO]uthl’l;]f theldlfferentlal
2 equation (tan™ y—x)dy=(1+ y*)dx, given that x=1,
[NCERT Exemplar] when y =0. [Delhi 2015; All India 2015]
31 Find the p;}].-ﬁcul_:.lis_}?}:lgsi[}n of dillerential 42 Solve the initial value problem
equation — = - ————— given that y = .
1 dx 1+sinx g y=1 ye'dx = (y® +2xe” )dy, y(0) =1
when x =0. [All India 2019, 2016] . . ) .
43 Solve the following differential equation.
32 Find the equation of a curve passing through 2
h int (0. 7). gi hat th fth (1 +x7)dy +2xydx =cotxdx,x #0
the pnimt{ , 2), glven_t at the sum of the [All India 2012C, 2011]
coordinate of any point on the curve exceeds
the magnitude of the slope of the tangent to the 44  Solve the initial value problem
curve at the point by 5. [NCERT (x —sin y) dy + (tan y) dx = 0, p(0) = 0.
33 Find the particular solution of the differential 45 An equation relating to the stability of an

equation g+2_vtan x =sin x, given that y=0

when x = 1
3

LONG ANSWER Type Questions

aeroplane is given b $= g coso— kv, where vis
t

the velocity and g, o k are constants. Find an
expression for the velocity, ifv=0att=0.

HINTS & SOLUTIONS

34 Solve the differential equation

35

36

dy = cosx (2 - ycosec x)dx given that y=2,
when x = /2.

Find the particular solution of the differential

equation x% +y—x+xycotx=0,X# 0, given

that when x = E,y =0
2 [Delhi 2015C, 2011C])

Solve % — 3y cot x =sin2x, where y=2and

X=

e

[NCERT; All India 2015C]

d
1. (c) Given that cos xd—y + ysinx =1
x

dy
= — + ytanx =secx

dx

Here, P =tanx and Q =secx
IF=€J“' =ejhmx¢r = plomsecs

=secx

2. (c) Given that (1-— xz)d_y —xy=1
dx

= —— — ] =

which is a linear differential equation.



T

i F=g *

Put 1-x*=t=— 2xdx =dt
di

= Id.l'=—?

Lp it 1 1
4= —logt —log{l=x*}
Now, [F=EJ*=E” =g? =1||1—x!

. (a) Given that rd—y + y=e"
dx

d_y+l=i

de x x
which is a linear differential equation.

=5

1
Lac
]:F=£'J.r =gl = x

The general solutionis y-x =j[r - x] dx

x
= yox= J-E'”ﬁbc
= y-x=¢ +k
e’k
=1 }r=_+_
x  ox
. dy o]
. (c) Given that — ="
dx
d}" £z
= _— =g
i xy
Here, F=-x, Q=£12'2

The general solution is
- -t 2
yoe " 'rz=je ReTE A4

= ye'x:’z=j1dx+C
= }r-e"zu =x+C
= y={x+C]e'2u

. (a) Given differential equation is

d 1
_}r+ y—=sin x
dx x

which is linear differential equation.

Here,

1
P=—and Q=sin x
x
1
Zix
IF= e‘i' = =y
The general solution is
y-x=Ix-si.nxdx +C A1)
= xy=—xcos x+sinx+C
[integrating by parts]
= x(y+cos x)=sinx+C

6. The given differential equation can be rewritten as

dy _ e~ ¥

o Jx Ix

oo

10.

11

12,

-24x
da fx Jx

which is a linear differential equation of the form
dy
—_ 4+ -
I Py=0Q
Here, P= ! and Q—e'bﬁ
o x e

Jmi L
Mow, IF = gl it = p o =Ej?: =ez‘ﬁ

d
= Dy L-F

. Salve as Question 6. [Ans. x7]
. Similar as Example 1. [Ans. y]

. Given equation can be rewritten as

dy :
cot y — 2xy)—==1+
(cot y y

cot y — 2Zxy _ dx

(1+y*) dy
dx  coty 2xy
= T oTr s Tiat
y 1+y 1+ vy
dx 2 t
= + Y =Ly

E 1+yz- _1+y2

which is a linear differential equation of the form
dx

—+Px=
dy Q
2y cot y
Here, F = - and Q= -
1+y 1+y
2y
—zn‘y
an,[F'=eIMy=eJl*'

Put 1+ y' =t = 2ydy=dt
dt
[F=eg ¢ =|z'l°“”m=t=1+yZ
2
—d
Hint {i:.IF=eJ o pthEr o Gl o 2

(ii) Solution is given by y- x* =I x-xidx + C

2

rA.us. yv= Iy Cx'g-l

AR

Hint

(i) IF=e"

(ii) Use the formula, I e [flx)+ fix)dx=e"f(x)+ C

to simplify the solution. [Ans. ye* =¢e" cos x + (]
. dy

Given that — + 2xy =

Ir Y=y

d )
= —y+2xy—y=0::>—}'+|{2r—1]y={l
x dx
which is a linear differential equation.
d
On comparing it with d_y + Py =0, we get
x

P=(2x—-1) and Q=0



2x*
Now, [F=ejm=ejm']m=e[z ]=e“2"
and the complete solution is given by
}r-e’J"‘ =j(Q-e":":Iuir+C
= yetTT=04C = y=Ce*

13. Hint (i) [F=e [raee_ e
(ii) For simplifying the solution.
Let I=J e cos 3x dx
I i
_zp SIiN3x ox sin3x

=g e——— — | 7T (—2) ——dx
3 'I- ) 3
e sin3x
3 3
e sin3x 2
——— + —
3

I O S e

“sin3x 2
=8 SMIX 2w gs dx — o]
9 9

3

- C J- e sin3x dx
1 m

{Anm y= %{3511131 — 2cos 3x) + Ce 2”]

14. Similar as Question 10.

-]

15. Hint (i) Write the given differential equation as
dx x 2

—_— ==

dy ¥

4
(ii) Similar as Example 4. [ﬁ.ns. xy = LA C]
4

16. Given differential equation is

dy
x——y=logx
. ¥ i4
and it can be rewrittenasd—y—l=hﬁ,
x X x

which is a linear differential equation of the form

dy
— 4 =
I Py=0
Here, P=—L and Q=ID£.
x x
i
Now, IF = J" =g =y

and the solution of differential equation is given by
yx'= j [_lugx -x"]dx +C
x

= l=[£%£n+c (D)
xX x

17.

18.

Now, put logx =1t

. L =dt
X

= x=¢'

*. From Eq. (i), we get

l:_[ %dr+c: l:j (t-e™)dt + C
o ¥ 1

x
- -
= l=t-f——jl-f—df+c
x (-1 (-1)
[using integrating by parts]
= l:—fe"’+_[r"'dt+£‘
x
= Y te—etC
x
1 1
= l=—]up;r[—)——+(:
x x) x
[ce™ =™ =8 = 7]
= y=—logx-1+Cx
= y=0Cx—(logx +1),

which is the required solution.

Given differential equation is

dy B i
cos x — + Zsinx-y=sin x-cos x
X

dy 2sinx sin x-cos x
=y y=

dx cos x COs X

J:II—}"+2ta.11;7c-y=.'i'.inJr L1)
dx
which is a linear differential equation of the form
dy

— 4+ Py=
I y=0

Here, P= 2 tan x and { = sin x.

Pde =£! nrds | logeecx

Now, IF = E'j
[ Jtan x dx = log sec x]

and the required solution is given by
y xIF=[{0x1F)dx +C
1

Cos X

dx +C

],r-seczx=J sin x-

=  y-sec”x =[secx-tan x dx +C
= y-sec’ x=secx+C [ ] secx tan x dx = sec x]
= y=cos x+C cos’x [dividing by sec® x ]
which is the required solution.
Hint

(i) Given differential equation can be rewritten as

d
—y+seczxy=seczxtanx
dx

Here, P=sec’ x and Q = sec’ x-tan x.

(i) IF = ™ [Ans. y-e™" =" (tanx — 1) + C]



19. Hint Write the given differential equation as
dy y _ eun' v

+ s
dcx 1+x* (1+x%)

1
ldx -1
~IF= ej'” =¢"" * and required solution is given by
2tantx r 2tan'x ]
tan™'x € tan™ ' x €
e = dx.| Ans. ye = +C
4 "(l +x%) l 4 2 J

20. Given differential equationis(1 + y*) + (x — e Y )gl =0
x

~L dy
= 14 y)=-— P e he A
1+y)=—(x—e )dx
= (l+y’)d—x=—x+e"“_"
dy
= 1+ yz)d-—x-+ x=e""
dy
dx x ey
= — =

dy 1+y° 14y
[dividing both sides by (1 + y*)]

which is a linear differential equation of the form.

d_x+Px=Q
dy
tan”' y
Here, P=—— and Q=5—
1+y 1+y
1
Now.l}'=ejm=el"” =Wy

and the required solution is given by

x-IF=[Q-IFdy+C,

el em-.y -t
= x-e™ ’=J—,-e"° Ydy + C,
1+y"
. tan™ y\2
= x-e™ ’=_[(e 2) dy +C,
1+y

1
+yz
x-e Y =je”df + G,

Put tan™ y = ¢, then dy = dt
1

= xoey = Lozuty +0C,
= 2xe™ T =Y 4 2C,
= 2xe™ Y=Y 4 O [-C=2C]

21. Similar as Example 4. [Ans. x = y* + Cy]
22. Hint The solution of given differential equation is
y(l+x)=tan™ x +C A1)

Also, given y =0 and x =1, then from Eq. (i). we get
0{1+1)=tan"{1)+ C

= o=24+c
4
T
= C=——
B

[Ans.(l +x%) y=tan™ x—%}

23. Hint (i) Here, P = —:—2—x—andQ =x'42
b el |
1
x*+1
(iii) The required solution is given by

y 1
=[]+ +C
x*+1 I( x'+1)dx

[Ans. y=(1+ x*)(x + tan™'x + C)]

(ii) IF =

24. Hint (i) Given differential equation can be rewritten as

dy 2x sec’ x
-—+ "y= 2
dcx 1+x° 14+x
2 2
Here, P = x,an =2 i
1+ x° 14+ x
(ii) IF =1+ x*

(iii) The required solution is given by
y-(1+x%)= Isec’x dx+C
[ tan x C ]

Ans. y= +
l 4 14x° 14x°

25. Hint Given differential equation can be rewritten as
dy ey 2

dx xlogx x*

L &

I
[F=¢ ** =¢"%" =]ogx
So, required solution is

ylogx = J%logxdx+c

=logx x {—l]—j-g[—L}ix+C
x x| ox
2 2
[ﬂns. ylogx = ——logx——+C']
x x

d
26. Hint Write given equation as Y _ Y axandsolveit.

r  x
[Ans. y =3x" + Cx]

27. Hint Write the given equation as :_r — x = yand solve it.
¥

X - -I
?L:{“:J

[Ans. x + y +1=Ce?]

28. Similar as Example 5.

[
lﬂ.ns. (x* —1)y= %lug




29, Given, (tan™ x — y) dx =(1 + x*) dy

dy tan™'x— dy tan™ 1

s B _mlx-y Ay elx 1
dx 1+ x7) de  1+x° 1+4x

dy 1

y_ta.n']x
dx 14 x° 1+ x°

=

i)

The above differential equation is linear differential
equation.

On comparing Eq. (i) with :_}' + Py =, we get
x

1 tan™" x
—and J = .
14+ x 14 x

P=
e I .
Now, IF=eI =g Y =g

. Solution is given by
y-IF=[Q-IFdx+C

- tan™' x -
= yoe™ z=j - e dx + C
14 x
Putt = tan~ x => df = — —dx

14 x
tan x r r r
yeu = [rddt +C=toe' — [1e'dt 4 C

[integration by parts]
et —e' 4 C
o

-
ve
_ — -y
ye*  x=tan T x-e" T — ™4 C
Ran™
ye

Y =(tanT'x —1)e™ T 4+ C

['.'f = Eum"x]

LUy

30. Given differential equation is (1 + r}:—y —ty=1
x

d I 1
and it can be rewrithen i = — — = ——

dr (+1) 1+t
Here,P=_—ra.ndQ=;
1+t 1+t

1= —

e 1l

Now,I[F=¢ '*' =¢ tre] o gmi-lg i)
=" = (1 4 t)e™

and the solution of differential equation is given by

- - -

1
1+t)e™ = [(1+1)-e- dt +C
n e I{+ ye (141¢)
= y-(+t)e” = [etdt +C
= y(l+t)er=—e"+C (i)

Also, it is given that y = —1, when t =,
. From Eq. (i), we get
(—1)(1+0)e"=—e"+C

= —1==14C = C=0
Now, from Eq. (i), we gety=_—1
(1+1t)

—1 —1

w1)= — Hence proved.

1+1) 2

31. Given differential equation is

dy x4+ ycosx
dx 1+sin x

It can be rewritten as
d cos X x
_y +

dx 1+4sinx 14sinx

This is linear differential equation of the form

d
—y+Py=Q.whEIEP=£andQ=— =

dx 14 sin x 1+sin x

08 X
| Fax —g 1+ 0y

Now, integrating factor IF = ¢

Putl+sin x =t = cos x dx =di
dr
g
IF =¢ * =eh’|'|

=|f|=1+sin x [putting t =1 + sin x]

The general solution is given by
y-IF=[Q-Fdx+C

yx(14sin x)=[- (l4+sinx)+C

1 +sin x
= y{1+si.nx}=-|.—xir+C
]
= yl+sinx)=—24C i)
2
Also, given y =1, when x =0
1{1+sinﬂ}=—g+C
= C=14+0=1
On putting C =1in Eq. (i), we get
2
y{l+sinx}=—x?+l
Hence, particular solution of the given differential
o ) x*
equabtion is y{1 + sin x)=— 5 +1.
32. According to the question, the differential equation is

d
x+y=Ey+5

= t:l—“"’+(—1)}|'=J::—S _A1)
dx
which is a linear differential equation of the form
d
_J"- + P}r = Q
dx
Here, P=—landQ=x -5
Now, IF = ej i e-[ g g

and the required solution is given by
yxrIF=[Qx[Fdx+C

= _V—E'I=J'I:I—LS)E-I dx +C
= yee " =(x—5]j£'zdx
d
- —(x—-5)pfedx|dc+C
I |9 peas]
[integration by parts]



33.

= yvoet=(x=5)—e)-[(—eT)dx +C
= ye =(5—x)e" -+ C A1)

Since, the curve passes through the point (0, 2), therefore
we have
2. =(5-0)e* -+ C
= 2=5-1+0C
= C=2-4=-2
On putting the value of C in Eq. (i), we get
e y=(5-x)e " —eT -2
= y =4 — x — 2¢* [multiplying both sides by £*]
which is the required equation of the curve.
Given differential equation is
J'I'qr—“”+2ytanx= sin x
dx
which is a linear differential equation of the
form iy +Py=0.
dx
Here, P = 2tan x and Q = sin x
F= EJA:‘.: _ ej 2tanxdy

Z| tamrdy
=.Ej B X =E.2|=d==“"|

Now,
=elee [ e/ = f(x)]
Then, the solution of differential equation is given by
y-(IF) = [(IF)Q dx +C

2
=50 X

= y-sec’r=_|-seczx-sinx dx +C
= }r-sec!r=_|- szx dx+C
cos” X
Put cos x = t, then —sin x dx = dt
di
}r-sec!x=—jr—!+c
= }r-sec!x=—jt'zdf+f.'
=1
= ysectx=—-1——+0C
(-1)
= y-set!r=i+C
t
= ysec’ x = +C [+t = cos x]
cos X
= y-sec’x =secx+C
1 C
= y= +—
secx sec X

[dividing each term by sec” x]

= y=cosx+C-cos’x

n
Now, it given that y =0when x = 5

i T
O0=cos—+C-cos"=

= f]=l+l.’:.l |:|Js£=l
2 4 3 2

34

35.

-1 C

= —_—=— =
2 4

.. The required particular solution is

y=cosx—2cos’x

C=-2

Given differential equation is
dy = cos x(2 — y cosec x)dx

d
= d—y=cusx{2—ycnsecx)=2cusx—ycosecx-cnsx

'
:}.ﬂ
dx

= 2cos x — ycotx

d
=2y yeotx = 2Zcos x
dx
which is a linear differential equation of the form of

dy _
E*'P}’—Q

Here, P =cotx and Q= 2cos x.
Now, IF = ejnt = tjmxﬂ =" = gin y
and the required solution is given by
yxIF = [(QxIF)dx +C
y-sinx = I?cus x-sinxdx + C
=  y-sinx= jsi.n 2xdx+ C [-sin2x = 2sin x cos x|

cos 2x
2

+C A1)

= y-sinx = —

Also, given y = 2, when x = g, therefore we have

T
cns[2x5]
2.sinf=— +C
2 2
1
= 20=4+=+C
2
1
= 2—==C
2
4—-1
= —=C C==
2

On putting the value of C in Eq. (i), we get

1
sinx =— —cos 2x + —
¥ 2 2

Given, xd—y+ y—x+ xycotx =0
dx
d
= x—y+y{1+xcolx)=x
dx

On dividing both sides by x, we get
d_y+ (1 + xcotx) -1
dx x
which is a linear differential equation of the form

d_y+ Py =10Q.
dx

1+ xcotx

Here, F=

and =1

X



36.

1
NDW, ]F:.ejpdrz EI[;**“’}“
log] x| + bosg] sin x| = Elog[x.:].nﬂ

=g
= xsinx [ e ™ = )]
and the required solution is given by
y-IF = [(Q-1F)dx + C
= y(xsinx]=j:]csil;{rdr+c
= y(xsinx)= xjsinxdr—j i{r:l.l-sjﬂrdr dx
dx
[integration by parts]
= y{xsi.nr)=—xcnsr+_[cnsxdr
= y(xsinx)=—xcosx +sinx +C A1)

Also, it is given that when x = % y =0, therefore from
Eq. (i), we get

I T m
0=——cos —+sin—+C

2 2 2

I
I=—={0)+14C=C=-1

2

Hence, the required particular solution is

xysinx =-—xcos x +sinx —1.

d
Given, Q_ (3cot x)y =sin 2x
dx

which is a linear differential equation of the form
dy
= 4 =
I Py=0Q
Here, P=—3 cot xand(Q =sin 2x.
Now, IF = E'j i e'lj e g war) _ gty
1

sin’ x
and the required solution is given by

yxIF=[(Qx1F)dx +C

1 1

= yX— =I_ sin 2x dx + C

sin” x sin” x
— yx 1! =2Fsmxiusxdx+c

sin x sin x

[ sin 2x = 2sin x cos x]

1

= — ><y=2_|'ttmzrdx+c
sin” x sin” x

= “: =2Icntxmsecxdx+£‘

sin” x
= “; =—2cosec x +C

sin” x

1 -3 - 3
= yv=—2|— xs5in” x|+ Csin” x
sin x

= y=—2sin"x + C sin*x L)

Also, given y = 2and x = % therefore from Eq. (i), we get

2=_ 25inz[£)+ C sin® [E]
2 2

= 2=—24C

= C=4

On putting the value of C in Eq. (i), we get
y=—2sin’x+4sin’y = y=4sin’ x —2sin’ x

which is the required solution.

37. Similar as Question 36.
z
lﬁms. y = 2x” cosecx — ?cns«ec rJ

38. Given differential equation is

{x!+1}:—y+ Zxy=x" +4
x

d}'+ 2xy aJ;r!+4

dr (1+x°) (1+x)

which is a linear differential equation of the form

dy
dx
.,||x2+4
Here, P = —and Q = —
1+x (1+x7%)
] !xtd‘_
an,IF=E'M=e“”:

= gl - (1+x%)
and the required solution is given by

y-lF=I{Q-lF]ir+C

2
NE 2 14xt)desC
)

1+x

= }r-{l+x‘}=j x+(2) dx+C

= y(l+x%) =j

4
= y-[1+x2}=§ﬂlx2+4 +Elug‘x+-.,sz+4 +C
2
[j x*+a’ dx =§-‘FI!+ a + ';— log | x +~.,lx’ +a’ |]
y{l+x’]=£-.||xz+4+2[Dg|x+“lxz+4|+c
2

which is the required solution.

39. Given differential equation is

< ¥=xcosx+sinx _.(i)
dx
= ﬂ+l=msx+smx
dx «x x



4.

This is a linear differential equation of the form

d
T+Py=0,
x
whereP:l-andQ=cosx+§£
x x

1
IF=eIM =ej;“ =gl =x
and the solution of differential equation is given by
y-(IF )= [Q-(IF) dx +C

= yx=I(xcosx+sinx)dx+C
= xy=_[xcosxdx+_[sindx+C
=5 xy=xsinx—Jsindx+Isinxdx+C

[integrating Ist integral by parts]
= xy=xsinx +C

Putx=%andy=l, we get

Ex1=ZanZsc
2 2 2
= £=£+C
2 2
= C=0

Now,xy=xsinx+0 = y=sinx

. Hint Write the given differential equation as
d_y_ 2xy _(x2+1)2 -
dx (x*+1) (x*+1)
dy 2%y _ .2
= ————=(x"+1)cos x
dx x*+1
=
and  IF=¢ ' =emh o (x4 )
[Ans. y = (x* +1)sin x]
Given differential equation is

(tan™ y—x)dy = (1+y*)dx

tan”y—x _ dx

= 2
1+y dy

=1
= x__—x ,fany
dy 1+y 1+ y

dx 1 tan™

= D - =2

dy 1+y* 14 y*

which is a linear differential equation of first order.
On comparing with ;E+PI=Q' we get
a

p=_1 d _lan'Ly

1+y 14y

2%
P 2 -1
Now,IF=eI‘y=e"’ =" 7

and the required solution is given by

xIF = [Q-IF dy+C

-t tan™ -t
= x-e“":_"m—fxe"”dy+c
1+y

1
Put t =tan™y, thendt = d
y l+yz Y

x-e™ =Ir-e'dt+C

= x-e™ =t e'—Jl- e'dt +C [integration by parts]

2
= x-e*™Y=t.-e-e'+C

—x - e Y= (tan™ y —1 ey 4+C
[putting t = tan™ y] ...(1)
-+ It is given that x =1, when y =0.
Therefore, we have
1-e"=(0-1)+C
= =-14+C
= C=2
Hence, x-e™ ¥ =™ ¥( tan”'y —1)+2

which is the required particular solution of the differential
equation.

42. Hint Write the given differential equation as

i‘;: yze'y + _Z_x.
dy y
= £—£x= ye?’
dy y

[Ans. x = y'(e™ — 7))

. Given differential equation is

(1+ x*)dy + 2xy dx = cot x dx [ x=0]

Above equation can be rewritten as,
(14 x")dy +(2xy — cotx)dx =0
= (14 x%)dy =(cot x — 2xy) dx
On dividing both sides by 1 + x*, we get
dy = cot x — 2xy dx

1+ x°
d t 2
- dy _ cotx  Zxy
de 1+x* 1+4+x°
d 2 t
:>_J-’+ X _L‘DI

dx 1+x) 1+4x
which is a linear differential equation of the form of

dy _
E*'PJ’—Q



45. Given,

cotx
z

2x

Here, P = = andQ:

14+ x 1+ x

Zx

| Bix ! z ko1 + 57
Now, [F=¢ =g """ =g =1+ x°

[ 2
|".‘I,=I rzdx,putl+x!=f:} 2x dx =dt
1+ x

=1, =j%= log [¢] = log [1+ x2|]

and the solution of linear differential equation is given by

yxIF = [(Q xIF)dx +C

t
= y{1+x’)=Ic:;czx{l+xz)dx+C

1
= yl{1+x2}=-|-cntxdx+C

= y(l+x*)=log|sinx|+C
_log|sinx| C
1+ x* 1+ x*

=5

which is the required solution.

44, Hint Write the given differential equation as

5=

E_ tan y
dx . -1
= d—+{mty}x=m\sy [Ans. y =sin" 2x]
¥
dv
—=gcos o— kv
@t
dv
= —+kv=pgcos

dt

which is a linear differential equation of the form

dv
di Q

Here, P=kand Q = g cos o.
Now, IF = EFM =eleI =t
and the solution of the differential equation is given by

veel =je“-_gr:us odt+C

= v-eh=gcusu-|-ekd'!+c
"
=3 v-fh =%ﬂ?+c {1]

It is given that v =0, when t =0.
. From Eq. (i), we get

ﬂ:gc:’;a+c
= c=_8cos
k

On putting the value of C in Eq. (i), we get

[+
cos e cos o
voei= £ _£

k k
= p-fk'r:w{gh—l}
— v=w{1_f-h},

k
which is the required expression.



SUMMARY

= Differential Equation An equation involving independent
variable (variables), dependent variable and derivative
(derivatives) of dependent variable with respect to independent
variable (variables) is called a differential equation.

= Ordinary Differential Equation A differential equation
involving derivative or derivatives of the dependent variable
with respect to only one independent variable is called an
ordinary differential equation.

= Order of a Differential Equation The order of the highest

order derivative involved in a differential equation, is called the
order of a differential equation.

* Degree of a Differential Equation The highest power
(positive integral index) of the highest order derivative
involved in a differential equation, when it is written as a
polynomial in derivatives, is called the degree of a differential
equation.

» Solution of a Differential Equation A function of independent
variable will be a solution of differential equation, if this function
satisfies the given differential equation.

= General Solution of a Differential Equation If the solution of
a differential equation of order n, contains n arbitrary constants,
then it is called the general solution of the differential
equation.

= Particular Solution of a Differential Equation The solution of
a differential equation obtained by giving particular values to
the arbitrary constants in the general solution, is called the
particular solution. In other words, the solution free from
arbitrary constants is called particular solution.

= Differential Equation in Variable Separable Form A
differential equation is said to be in the variable separable

form if it is expressible in the form ﬁdy = g(x)dx, i.e. terms

containing y should remain with dy and terms containing x
should remain with dx.
The solution of this equation is given by
1
hy)
and h(y) # 0.

dy = I g(x)dx + C, where C is a constant of integration

= Homogeneous Function A function F (x, y)is said to be
homogeneous function of degree n, if F(x, y) = x”g(%]

o nf3

= Homogeneous Differential Equations A differential equation
dy ax .
of the form — = F(x, y) or— = F(x, y)is called a
e y) & (x.y)
homogeneous differential equation, if F(x, y)is a
homogeneous function of degree zero.
* Solution of Homogeneous Differential Equation To solve
homogeneous differential equation of the form

& _ Y < s e Ll

S Fix,y)= f(;)puty -vxanda-v+ xamgiven
differential equation and then use variable separable method
to get required solution.

To solve homogeneous differential equation of the form

adx X ax av. :
—=G(x,y)=g(—} put x =vy and — = v + y — in the given
dy y dy dy

differential equation and then use variable separable method.

= Linear Differential Equation A first order differential equation
in which the degree of dependent variable and its derivative is
one and they do not get multiplied together, is called a linear
differential equation.

Type | A differential equation of the form % + Py =Q, where P

and Q are constants or functions of x only, is called linear
differential equation, whose solution is given by

y-(F)= [Q-(F)dx +C, where IF =¢/**

Type Il A differential equation of the form %+ Px =Q, where P

and Q are constants or functions of y only, is called linear
differential equation, whose solution is given by
x-(IF)= [Q-(IF)dy + C, where IF =/



CHAPTER
PRACTICE

OBJECTIVE TYPE QUESTIONS

1 Ifmandn are the order and degree of the
differential equation

. [ﬂ}
[dzy] +4i+d_3_}’

- 5 dra=.r2—1,thf:n
dx’

(a)m=3n=3 (bym=3n=2

(c)m=3 n=>5 (dym=3 n=1

2 The order of the differential equation satisfying

J1=-x2 + 1=y =a(x - y)is
(a) 1 (b) 2
(c)3 (d) None of these

3 If y =e*(Acosx + Bsinx), then yis a solution of

2 2
@l Y% 5 AL
: dx dy ® dx

dx
d'y _dy d’y

(c) —+2—=—+2y=0 (d) —+ 2y =0
dx dx de *

4 The solution of differential equation
xdy = ydx =0 represents
(a) a rectangular hyperbola
(b) parabola whose vertex is at origin
(c) straight line passing through origin
(d) a circle whose centre is at origin
5 The solution Df% - y =1, y(0)=1is given by
£
(b) xy=—e~*
(d) y=2¢* =1

(a) xy=—e"
(€) xy=~-1

6 The differential equation y% + x = C represents

(a) family of hyperbolas
(c) family of ellipses

(b) family of parabolas
(d) family of cireles

7 The integrating factor of differential equation

ﬁ+ ytanx —secx=01s
dx

(a)cos x  (b)secx {c) e {d)e™*

8 If% = y+3>0and y(0) =2, then y(In2) is equal

to
(a) 5 (b) 13 (c) =2 (d)7
9 The integrating factor of differential equation
% +y= —1 ty is
x
x

@= = (c) xe* (d) e

e* x

10 The solution ofj—‘y +y=e* y(0)=0is
s

X

(b) y=xe”
(d) y=(x+1)e""

@ y=e*(x-1)
(c) y=xe™" +1

VERY SHORT ANSWER Type Questions

Directions (Q. Nos. 11-14) Find the order and degree of
the following differential equations.

1 §+sin [ﬂ]= 0

4
dx* [NCERT]
3 2
2 4y, 1+(d_l’]
2 dx
d 2
13 Y, =y?
ax  (dyjan)
232 4
14 xz[d—‘ZJ +x[d—y) =0
dx dx [Delhi 2019]

15 Find the order and the degree of the differential
equation

4
2 a2
g |(3)
ax [Delhi 2019]

Directions (Q. Nos. 16-19) Solve the following differential
equations.
dy dy  y(x+1)
16 Z+y=1y=1 17==-2~"""-0
i Ly o <
18 X _gr-x
dx [NCERT Exemplar]



19
20

21

22

23

24

ﬁj.a+:cﬂ+x=l2l
dx

Write the general solution of differential
equation @ =
dx x

Find the integrating factor of the differential

. day b
e uatmnxi— r=2x".
q dx ¥

Find the integrating factor of the differential
equation (1 - %) ;£+ yx=ay,-l<y<l
Ly

Write the integrating factor of
dy _ 1

R y=(1+x)e*.

Write the integrating factor of the differential
; dy _afx
equation 4y — + y=¢ .

1 J_ dx Y [All India 2015C]

SHORT ANSWER Type I Questions

25

26

27

28

29

30

31

State whether y = ¢ "(x +a)is a solution of
differential Equationg +y=et.
Show that the function y = (A4 +Bx)e" is a

2
solution of the equation d—J; - Ei'd—}r +9y=0.
dx dx

Show that the function ¢, defined by
o(x) = cos x, (x € R), satisfies the initial value
2

problem ir_{ +y=0,y0) =1 y(0)=0.

Show that y=Cx + %is a solution of differential

equation y = Id—-F -

“@

Prove that xy =ae”™ + be™ ™ + x?is the general

, where C is a parameter.

solution of the differential equation
z, '
xd;%+2‘—il-x}'+x2-2=0.
dx dx
Write the solution of differential equation
(" +e  )dy=(e" —e ") dx
If% = yex and x =0, y = e, then find the value of

¥, whenx=1 [NCERT Exemplar]

32

33

34

35

36

37

38

Solve2(y + 3) - xy :_x_y =0, given that y(1)=-2.
[NCERT Exemplar]
Solve the differential equation % = ysin 2x,
given that y(0) =1
Solve the initial value problem
dy =e™* ¥ dx, y(0) = 0.

Show that the given differential equation is
x+y
X [NCERT]

homogeneous and solve it y* =

Find the integrating factor of the differential
. _dy 1+y
equation —+ y=—=— )
dx x [All India 2017C]

Find the general solution of the differential

equation L2 +2y =5,
dx [Delhi 2017C]

Find the equation of that curve whose tangent

at any point on it has slope equal to y + 2x.

SHORT ANSWER Type II Questions

Directions (Q. Nos. 39-51) Solve each of the following
differential equations.

39
40

H

42,

43

14
45
46

47
48

19
50

xcosydy=(xe*log x +e*)dx

(1+y) (1 +log x)dx + xdy =0
dy 1+cosly .
dx 1-cos2x

[Delhi 2011]

(1+ e™)dy + (1+ }'2) e* dx =0, given y =1, when

x=0. [NCERT; Foreign 2011; Delhi 2010]

(x+1}ﬂ=gg‘-" +Ly=0whenx=0
dx [Delhi 2020]

2xy dx + (x* + 2y%) dy = 0 [Hint Put y = vx]

(x* = yx?) dy + (¥ x?y") dx =0
xdy-ydx=1||:rz+y2

[NCERT; All India 2011; Delhi 2019, 2016C]
xdy=2y+2x* 4+ xV)dx

[Delhi 2010]

ﬂ-']f'=sin_!r:
dx [All India 2017]
1+ xz)ﬁ-x=2tan"1x
dx
xdy=(y+2x%)dx=0 [All India 2011]



51 ydrx-(x+2yYdy=0 [All India 2017]

52 Show that the family of curves for which
ﬁ _ xZ4 _}'2
dx 2xy

,is given by x? -'}'2 =cx.

[Delhi 2017]
Or

Find the general solution of the differential

, dy 2 2
equation —=x"+ ).
T ny dx Y [All India 2017C]
53 Solve |{1+_r2}jr—y+21y-412 = 0 subject to the
initial condition y{0) = 0. [Delhi 2019, 2016C)

54 Solve the differential equation
xd—y =y-x tan[l]
dx x

55 Find the particular solution of the differential

[All India 2019]

, 2
equation dy _1+ }2, given that y(0) = J3.
dx  1+x
[All India 2017C]
56 Find the particular solution of the differential
equation 2xy + }'2 =252 %=ﬂ, yv=2whenx=1
[NCERT; All India 2017C]

LONG ANSWER Type Questions

57 Solve the differential equation
dy e (sin® x + sin 2x)
dx ¥(2log y +1)

58 Solve the differential equation

%:1.”( +y*+ 0", when y=0,x=0.
[NCERT Exemplar]

59 Ssolve xzﬁ=x2+ 4yl
y+y
dx [NCERT Exemplar]

60 Solvexgd—y—xy=l+cos{l}x:ﬂand_\r:],
dx X

n
iy [NCERT Exemplar]

61 Find the equation of a curve passing through

the point [1, %} if the slope of the tangent to the

curve at any point P(x, y)is Y _cos
x
[NCERT Exemplar]

2 ¥
o

62 Solve the differential equation x % —ay=x+1

63 Find the particular solution of the differential

equation (1+ x

dy -1 .
2 mtan  x
—_—=¢ -y, given that
) ] Y. 8

y=Lwhenx=0. [All India 2015]

64 Solve the initial value problem

dy 2 dy
-x—=2{1 — L yl)=1
y Id_x [+x dx}}“
[Hjnty-xd—y=2[l+xzd—y]

dx dx

1 1
)Y

1 2 1, ]
=I[§_zx+1]dx=j(y-2)dyj

65 Show that the differential equation
(x? + xy) dy = (x?+y”) dx is homogeneous and
[NCERT]

solve it.

66 Show that the differential equation
(¥* = x?) dy = 3xydx is homogeneous and solve it.

67 Solve the differential equation
(1+€"7) dx + e*'” (1 -5] dy = 0. [Hint Put x = vy
y

[NCERT]
68 Solve the differential equation

x’dy + y(x + y) dx=0, given that y =1, when x =1

2
[Him d_y == (1) - (i] , put ¥ = vx, then
l. dx X X

x£=—2v-v2

dv dx _ 1
= e e

69 Solve the initial value problem
(xe*’* + y)dx = x dy, y(1)=1
70 Ssolve y+ % {(x) = x(sin x + log x).
[NCERT Exemplar]
[Hint The given equation can be written as
dy .
+x—+y=x(sin x +logx
yrx—-+y=x( gx)

dy 2 '
= I+:y—smx+log_¥]



71 Find the general solution of

72

73

(1+ tan y)(dx —dy) + 2xdy =0.
[NCERT Exemplar]

[Hint The given equation can be written as
2

£+2_I=];IF=¢EII+M“-"@
dy l+tany
2.:0:5_.1r dv ]-[cm !-+sirl._li+¢,-m’-_:in }']dr
—[Fog Osr+siny =~ _ cos ¥ + sin y

I-[“_—cus Y- s_in "I] dy
- &- COs y+sin y

= gV +loglcos y+siny| _ ¥ -(CEIS ¥+ sin }]]

Find the particular solution of the differential
equation (1- x%) ;x—} - xy = x7, given that y =2,
when x =0.

Find the particular solution of the differential
dy

equationx — = y=(x+ )& *
q proal (x+1)

, given that y =0,

whenx =1

CASE BASED Questions

74.

A Veterinary doctor was examining a sick cat
brought by a pet lover. When it was brought to
the hospital, it was already dead. The pet lover
wanted to find its time of death. He took the
temperature of the Cat at 11.30 pm which was
94.6°F. He took the temperature again after 1 h;
the temperature was lower than the first
observation. It was 93.4°F. The room in which
the Cat was put is always at T0°F. The normal
temperature of the cat is taken as 98.6°F when
it was alive.

The doctor estimated the time of death using
Newton law of cooling which is governed by the

differential equation: % = (T = 70), where 70°F
is the room temperature and T is the
temperature of the object at time .

Substituting the two different observations of T
and t made, in the solution of the differential

equation % = k(T - 70) where k is a constant of

proportion, time of death is calculated.
[CBSE Question Bank]

Answer the following questions using the above

information.

(i) State the degree of the above given
differential equation.

(ii) Which method of solving a differential
equation helped in calculation of the time of
death?

(a) Variable separable method

(b) Solving homogeneous differential
equation

(c) Solving linear differential equation
(d) All of the above

(iii) If the temperature was measured 2 h after
1130 pm, will the time of death change?
(Yes/MNo)

(iv) The solution of the differential equation
% =k(T - 70)is given by,

(a) log T -70| =kt + C

(b)log IT-T0|=log |kt |+C
(c)T-TO=ht +C

(d)T-T0=kt +C

Ifr =0when T is 72, then the value of C is
(a)-2 (b)O (c)2 (d) log 2

(v

-

Polio drops are delivered to 50K children in a
district. The rate at which polio drops are given
is directly proportional to the number of
children who have not been administered the
drops.

By the end of 2Znd week half the children have
been given the polio drops. How many will have
been given the drops by the end of 3rd week
can be estimated using the solution to the

differential equation % = k(50 - y) where x

denotes the number of weeks and y the number
of children who have been given the drops.

[CBSE Question Bank]
Answer the following questions using the above
information.

(i) State the order of the above given differential
equation.

(ii)) Which method of solving a differential
equation can be used to solve j_t—y = k(50 — y)?

(a) Variable separable method

(b) Selving homogeneous differential
equation

(c) Solving linear differential equation
(d) All of the above



(iii) The solution of the differential equation

j—i=k(5l’.'l—y}is given by
(a)log |30 - y|=hkx + C
(b)-log|50-y|=kx +C
(c)log |50~ y|=log |kx |+ C
(d)30-y=hkx+C

(a) log 50 (b) log %

(c) 50 (d) - 50

(v) Which of the following solutions may be used
to find the number of children who have been
given the polio drops?

(a) y=50-e™ (b) y =50 — ™
(c) y=50(1-e ™) (d) y=50(e™ -1)

(iv) The value of ¢ in the particular solution given

that y(0)=0and k =0.049 is

| ANSWERS |

1. (b) 2. (a)
6. (b) 7. (@
11. Order = 4, degree =not defined

14. Order = 2, degree =2

19. y= —E{a +x)¥ ¢ Zn,"a +x+C
3

15. Order = 2, degree =1

23.F = 24, F=e*
1+x
I y=¢ 32 Yy ey =Tt
x 3x
36.F == 37.y="—sce™
X 5
2
40.tnn_1y+log|x|+w=c‘

43y =log(3x+1) 44, 29% +3x’y=C

5. (d)
10. (b)

3. (e 4. (d)
8. (@ 9. (b)
12. Order= 2 degree=2 13. Order=1, degree =2

16. x+logph -y|=C 17.y=xe*+C 1B.27"-27%=k

20. y=0Cx 21.[F=l 22 IF = 1
x 1—y*
25. Yes 30. y=logle* + e 7|+ C
33.y=e§n!z E”'l'.3,|'=[|:|g3 221_ 35.y=rlug|x|+Cr
—-€

I8, y=—2x-2+ e 39.siny=¢" log x+C

x

I
4. tany = cotx + C 42. l:m_ly +tane =;

46,y + 1"3:2 +yt =t

45, l+ 1ogy=—1-+ x+C
y x

1 1
-f|-:0".y'=x"+.'r2 l|JgJ(+1:‘.1::2 48. y=—;{si.nx+cosx+oe"] 49, y =(tan™' 0%+ E]crg|1+ x? |+C‘
z 2 41’3 . ¥
50. y=2x" + Ox 51. x=2y* +Cy 53. y=— 54. xsin| = |=C
31+ x7) x
5S.tnn_1y=tan_1r+£ 5ﬁ.y=L{r¢ﬂ,x#e] ﬂ.yg(]ogy}me’ sinx+ C
3 1—lug|x|
2
58.y =tan x+ X 59. tan™' [l]=log|x|+ﬁ' 60. talrl(l]=—‘l+i 61. l:m(l]+logx=1
2 x 2x 2x? 2 x
6l.y= * —l+Cr" 63.y{m+1]em-l'=e{’"+1}m_l'+m 64 y=2- 3x .W]:‘I.E]'EJ.’-#—l—
l-a a 2x+1 2

65.(x—y)* =Cxe ¥ 66. y2(ax* —yH)* =cC

69.y=x—xlcrg{1—£]c-g|x|}
T1. x{sin y + cos y) =sin y+ Ce™”"

T4 (i) — (1), (il) — (a), (iii) — (No), (iv) — (a), (v) —=(d)

67. x+ye =C 68. y+ 2x—3xTy =0

2 sl 2 -
70.y=—cosx+ﬂ+ m:x+£lugr—£+Cx :
x x 3 9
-1
2 . _
72 y=-Z24 32X Ty=—e"+xe!

2 ZJ —x* +,“[l—:v:aI

75. (i) — (1), (i) —(a), (iii) — (b), (iv) = (b), (v) = (c)



